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Section - A (Physics)

A radioactive nucleus '%X undergoes spontaneous
decay in the sequence

%X—}z_lB —}2_30—3*2_2]), WhEl‘E yART: the

atomic number of element X. The possible decay
particles in the sequence are :

O BT, BT
@ B p’
(3 o p, BT
@ o BT, BT

Polar molecules are the molecules ;

(1)  acqure a dipole moment only when magnetic
field is absent.

(2)  having a permanent electric dipole moment.
(3)  having zero dipole moment,
(4)  acqure a dipole moment only in the presence

of electric field due to digplacement of
charges.

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-section and same material is 0.25 (. What
will be the effective resistance if they are connected
in series ?

Q 10
@ 40

@ 0250
@ 050

Column - I gives certain physical terms associated
with flow of current through a metallic conductor.
Column - II gives some mathematical relations
involving electrical gquantities. Match
Column - I and Column - II with appropriate
relations.

Colunmn -1 Column -11

m
(A) Drift Velocity () o2 ;
(B) Electrical Resistivity @ neyy
; ; el
(C) Relaxation Period (R) - 25
‘ E
(D) Current Density (S) I

1 AR, B)-P), O-6E), D)-@
@ AR, B)-@, O-6), D)-@)
@ A&, B)-0), C)-F), D)@
@ AR, [B)-),C)-Q).D)-P)
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5. feu ™ Hasm O g wiia
i
11
— — L
|1
11
C
L 2
@  3Cr
@ 3C
@ 2C
6. T oyt wfug 4 1.5 9iee fa @19 = =% 99
36 B, TR ¥ ¥EE W wgfem fag ot &1 Afg
2.5 9 faane. st ol et veel! e st sty
w4 B, @ R & e o w wfeaa fag o
a2
() 649.H
@ 6294
(3) 60 WML
4 2169
7. T Ua8 9 9 OFT v B 1 99 $EE S A
gt % Toea = 9R A1 Fise ot SO 7S % Tae 9
T 3 B E
1y 3v
2y 4dv
3 v
4 2v
8, THFIUHE ‘Y e H 90°C ¥ 80°C 7 2= BT 8,
ST HHYL S A9 20°C B | S L % 919 9 HH M U8
& FYH FH HI 80°C H 60°C TF S-S HE H GG
T B0
10
(L) ﬁt
5
@ 33t
13
® 1ot
13
@ Ft
9. TU T yererdi slieedl | V=V, sinwt ¥ ‘C 4Rl
1 T 1 5= ¥
1S 3% @I & = faeeys o 2

| i f
(1) d oC 81110

2 Ij=Vywlsimat
(3 I[3=Vy0Ccosut

@ I =Ec05mt

L[]

01

The equivalent capacitance of the combination
shown in the figure is :

C
| |
[
— —C -
| |
[
C
aQ o2
@ 302
@ 3C
@ 2C

In a potentiometer circuit a cell of EMF 1.5 V gives
balance point at 36 cm length of wire. If another
cell of EMFE 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

(1) 64em
(2) 62cm
(3) 60cm
4) 216cm

The escape velocity from the Earth’s surface is v.
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is :

(1) 3v
2) 4v
(3) ]

4 2v

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature 1s 20°C. The {ime
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C 1s :

® ot
® =t
® ot
@ o

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by

V=V, sinwt

The displacement current between the plates of
the capacitor, would then he given by :

(1) Id=Esinmt

()
2 L=V ulsinet
@B  1;=VyeCcosnt

Vo
Li=— t
(4} d mCEOSuJ
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foRmmER=n (t=0) ¥ T Sl i e Taa9ad 95
= IR o §| ¢ sRA t=n—1 Yt=n F =

Sn
Sn—l—l

welieh gr <ol T gl S B, T STIUE 2T S

2n+1
2n—1

(1)

on
2n—1

(2)

2n—1
2n

(3)

2n—1
2n+1

(@)

Il I [F], TR [A] 991 999 [T] # &7 ©ifas
Tt a fern s, | St ki o S wifsw

O [FI[A][T-!]

2 [FI[AT[T]

8  [F1[A][T]

@  [F][A][T?]

x-Tem d Haita ws Frae forga gramnra od & o
Freafafea S § | % @ %A &g 89 ((E)
91 [EEHE 47 (B) T Tel wevd fewmsdi =i yeidha
FIATE?

P A Mo

@) Gk —j—k

LAY MM

@) _ itk —j+k

T A N L Y )

B itk j+k

FATF A MA

@ —jtk, —j-k

T T8 10 <[ F 56 9 5 A.H. fE= Sl &)1 v
2 T3, 299 1 TUY A2HE Sl &, dl S 6
aﬂaﬁaﬂa@m%‘

() 8.144FvE
@) 0.628 HFIZ
3)  0.0628 GFIZ
@  6.28HFTE
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A small block slides down on a smooth inclined
plane, starting from rest at time t=0. Let S, be
the distance travelled by the block in the interval

S
t=n—1to t=n. Then, the ratio B s
Sn—l—l
Zn—+1
S B |
2n
2) 2n—1
2n—1
3
(5) on
2n—1
@  onn

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities.
Find the dimensions of energy.

(1) [FI[AIIT~}]
@ [FI[AT'][T]
@) [FI[A]IT]
@  [F1[A][T?]

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electrie
field () and magnetic field (B) respectively ?

@ Gak
@ G4k —i+h
@ G4k j+k
@ Gk, —j-t

A spring is stretched by 5 ecm by a force 10 N. The
time period of the oscillations when a mass of 2 kg
is suspended by itis:

(1) 3.14s
2 0.628e
3) 0.0628s
4 6.28s
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@ e
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(3) T Jed e 3ud Ta4ST TeH F4 § |

@ SdFad gt

R, 9 R, T2 < < 3Teifer ieii =reres T dr 4
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STIUI B 8

R
o )
B}
®
R
® T,
R
@ %

T 318 % oS ‘4’ T W TF 20 WAL wEd
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A particle is released from height S from the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

S /38
O o
S [3gh
@ 4’y 2
S 3gS
(3) 75
S 4f3gS
@ 5%

A lens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since :

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2)  alarge area of the objective ensures better
light gathering power.

(3)  alarge aperture provides a better resolution.
(4)  all of the above.

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/0,) 1s :

(3) Ry

@ R,

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 cm are kept along the
same axis with a distance ‘d’ hetween them. If a
parallel beam of light falling on ‘A’ leaves ‘B’ as a
parallel beam, then the distance ‘d’ in cm will be ;

() 50
@ 30
@) 25
@ 15
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femm ¥ o I=E % T § 5 TERR S ogm
yared Bidl 81 TS & WHNG U FAEA
105 T4, = =0 H TG 1§ 1 Uk &9 W AT
AT =T % == e g 20 . T 59 AT W
T g oMY fRd S 9t o % ufiEm @

IO hITS |

Electron v=10% m/s

o

20 cm

l

P 5A Q
1) 4wx10~20=gET
2) 8x10~20=gH
(3) 4x10-20=gES
@ Swx10~20=gEq

I E 991 G AW Soll a1 Teearsmu vl i &l
mﬁhmﬁ%ﬁr%ﬁﬁmé‘ﬁﬁ%:

L) [M][LO][T°]

@ [MZ[L-2][T]
@  [MA[L-Y[T%]
@ [M]L-1[TY

M ESFHH T91 d S 1 DT 75 1 o fieeiE §
W T H TR W $S T 915 3R 3 W ¥ afg

ﬁaﬂﬁ?wm%‘éﬁrﬁ?wwﬁwww
BT -

3
(1) 9 Mg
@ 2Mg
Mg
®
@ Mg

n-2EY SFH=TerE § TOIFE S Wigdr 3a1 & € formn

p-2T3T ATH T Hiel H |Ed &1 TH W R

@ &= @ S g1 SF H gReT % U W

LEEEISI

(1) noEIE UU>p-IRYH g Y

@) p-2BY H HE 9 YerrEd T8 e, weEd
n-2EY T ¥R yafed aeht

(3) n-TRYH YR=p-<EY H T

4) p-<REUH W > n-<EIH GNH

6
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An infinitely long straight conductor carries a
current of 5 A as shown. An electron is moving
with a speed of 10% m/s parallel to the conductor.
The perpendicular distance between the electron
and the conductor is 20 cm at an instant,
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10° m/s

o

20 em

L,
P 5A Q
(1) 4wx10-20N
(2 8x10-20N
(3) 4x10-20N
(4 S8Bwx10~20N

If E and G respectively denote energy and
gravitational constant, then LY has the dimensions
of :

1) [M][LY][T%]

@ [MZ[L-2[T~1]

3 [MZ] LT

@ [M]L-1[T~ 1

The velocity of a small ball of mass M and density

d, when dropped in a container filled with glycerine
becomes constant after some time. If the density

of glycerine is % , then the viscous force acting on
the ball will be :

3
(1) 5 Mg
@  2Mg
Mg
®
4 Mg

The electron concentration in an n-type
semiconductor 1s the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them. Compare
the currents in them.

(1)  currentin n-type >current in p-type.

(2)  Nocurrent will flow in p-type, current will
only flow in n-type.

(3) currentin n-type =current in p-type.

(4)  currentin p-type > currentin n-type.
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T R oo ®t AR aRER! Sfda § 9/ 7 39E
ST R W 99 &1 Y faafid €1 Ffaad & wro
D AF B(r) 1 AR biad 9 H ¢ g F
AT YIS ©

O B g q

@ B d

@ B kil

@ B q

r »

U5 BEIS 56 T IR & S99 1 9 & Tore v
o smen €, o Tefoiiaa e < €

%1 YO 1 Uredi® = 0 faeftie
T THM 1 USAF = 52 GH

T e & for e Smrn ux 1 Toefivier, geis mm
% 100 @I % WTd graT ¥ 1 e few S dawi |

AT o S &

1 0.269H.
2  0.052 4HL
3 0.529H.
(4  0.026 9.4

7

22,

23.

01

A thick current carrying cable of radius ‘R’ carries
current ‘I” uniformly distributed across its
cross-section, The variation of magnetic field B(x)
due to the cable with the distance ‘r’ from the axis
of the cable is represented by :

1 B |
—
f
2 B
T —_—
f
@ B
T —_—
f
@ B

A screw gauge gives the following readings when
used to measure the diameter of a wire

Main scale reading : 0 mm
Circular scale reading : 52 divisions

Given that 1 mm on main scale corresponds to
100 divisions on the circular seale. The diameter
of the wire from the above data 1s:

(1) 0.26cm
(2) 0.052cm
3) 0.52cm
4) 0.026cm
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TFATT 600 AAMHIRE TUTes arel TereT 9§ 3igas wfd
UeHUg TSI RIEH! il G el 519 98 3.3 X 103
o1 vIfer Scafsld &L §
(h=6.6x 10~ 34T x 4.)

() 1016

) 1015

(3) 1018

@ 1017

TF TEET & 9aH & AU 15 A, &t | E
60 . S=mE ¥ U AT §1 S & R R
st S5t & 10 wiaera =1 =1 S 81 eamsT & g/
Torar wifem <09=1 =61 ST €2

(g =10H1./A.2)

1 12.3TwemER

2 7.0 fFamER

@)  10.2fF@ER

4) 8.1 TFeraE

T FHE Tl o TRl R T TN T &
T faeaeesre T eafag ot 81 Ak a9
ST ‘m’ TN & BRBAEEH i S-siell qieed
M E‘T, G

(1)

)

(3)

_{2me), o
o %)

T - 1 1 T - 11 ¥ gofera sifse 9o 9= ko
T ferredl ¥ W gAfew =i Bitey :

T - 1

| & arupsd @
= AT A S

(&) (P)

3 RT

3T 19 g STRIfd 9 (Q) T

B

(C)  T9] =BT T TIisT it

5
R) 5 RT

3
—kpT
2]3

1 A fgoame i

el S Holl

&) - (Q), (B)-(P), (C) - (5), D) - R)
&) - (R), B)-(Q), (O) - (F), D) - &)
A)- &), B)-F), (C)-(5), D) - @)
(A) - (Q), (B) - (B), (C) - (5), (D} - (P}

D) ()

(1)
2)
(3)
)
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The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when it delivers the power of
3.3%x 10 3 watt willbe : (h=6.6 x 1034 Jg)

(1) 1016
2 1013
3 1018
@ 1017

Water falls from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How
much power is generated by the turbine ?

(g =10 m/s?)
(1) 12.3 kW
2 T0kW
@) 102kW
@ 81kW

An electromagnetic wave of wavelength N is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron
emitted from the surface has de-Broglie wavelength
Ay, then :

’/2mc] 2
s A= —— A
(1) T S
(2h)
A= — [A
(2) I.\Hlﬂj d
'(2111 o
A= — Ag~
©) a\hc) d

Match Column - I and Column - II and choose
the correct match from the given choices.

Column -1 Colummn -1T

(Ad) Rootmeansquare ®) % nmy?
speed of gas molecules

(B) Pressure exerted (Q EMEE
by 1deal gas

(C)  Average kineticenergy ([R) gRT
of a molecule

(D) Totalinternal energy  (S) g kgT
of 1 mole of a
diatomic gas

1)  @-@Q),B)-EF).O)-6),D)-R)

2) A -®),B)- (@, C)-(P),D)-(S)

@) (A)-R),B)-EF)©C)-6B).D)-@)

@ @W-@Q).B)-®),.©C)-6),D)-F)
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31.

T 240 T T 1 A, Yo S0 99
120 % < Wl d Te@ ¥\ F@ied a9 @ied
Tifwsmt & T e yfa gt waem
7.6 HEEIa2A aiee (MeV) 91 8.5 HIEH2 dce
(MeV) 2| TohH T Fel U I8 Fell aiell & :

(1) 804 WA diee

@ 216 AMER diee

@ 0.9 BRI G

4 9.4 HIEIFIT dice

U HAMR ©ie 91 & W & 69 GHEHH
fore & B § 1 afs @Rl 3w o gl 0 9o v
T FH ATRA A Bl Tl U H WHHT Hol
© : (g, =Trarta =1 fargaeiieran

M %zﬂEzﬂd

EZAd
) %

1
) EEHEE
@ eFAd

fisn 9 firla 0 & 79 1 9@ FIEC) Hi FH
FTEIF V3 T

| 60"
(L  45°
2 9
3 el
@ 3
fesToR U foya fovpa &= o T 9w 81 =% T
feen 4 wifq wom 2
r
_____ R -
.. +9—q

T
) = T il ! feafast s weit |
@) T TWE Tk SR st St ae |
(3) il W T k! Tefast St et |
(@) T WE ik soe feafas et s |
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A nucleus with mass number 240 breaks into two
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclei is

7.6 MeV while that of fragments is 8.5 MeV. The
total gain in the Binding Energy in the process is ;

(1)  804MeV
@  216MeV
3 0.9MeV
@  9.4MeV

A parallel plate capacitor has a uniform electric

field ‘E’ in the space between the plates. If the
distance between the plates is ‘d’ and the area of
each plate is ‘A’, the energy stored in the capacitor
is : (£, = permittivity of free space)

a %eﬂEzAd

, E2Ad
(2) £
3) %EDEE
@ ¢BEAd

Find the value of the angle of emergence from the
prism. Refractive index of the glass is V3.

B 60°
(1)  45°
2 90
3 60
@  30°

A dipole is placed in an electric field as shown. In
which direction will it move ?

4
. - — > E
+q —q
A
(1) towards the left as its potential energy will
decrease,
(2)  towards the right as its potential energy will
increase,
(3)  towards the left as its potential energy will
increase,
(4)  towards the right as its potential energy will
decrease,
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34.

30,

Frefafag w9 (A) 991 (B) T fo=r sifse qur
& S = Fafea wifem

(A) TF SR TS Iopd 1A o e &, <™
fava fr= # TE T a2

p-n AE FT O IR 0.1 Fiee q9T
0.3 <iee % 1= 2@ 2 |

(A) I & T (B) T € |

(A) T & R (B) §A ¥

ST (A) 991 (B) 9 ¥ |

2 (A) T (B) TG € |

(B)

1)
2)
(3)
@
w fedmafira gFemEe ® sy 100 9 ¥
150 B+ 3 F1S YRIFF HfsHadr o1 = geit fHechsh
WPT BT ¢
o 3
3

2

3V2

1/2

(2)
(3)

1
) oz
foam T o3 F o OR @ L Ed & T, 0F
C €@ &1 91T 99 T ‘R’ Jfa0y &1 Fialyeh
V AR favamm & goarad e & Sl F9 4 S2 §

L, C, R W fayera a9 40 9, 10 9 a0
40 9ive 1 LCR 8vi ufiwy & yarfeq gm

102 iR ) ufte = giaenen §
WAA—

— A V—«— 10 V—«—40V—

(~)
o
A%

4 39
5 3

3  4/23M
@ 52 &M

U o] ‘n’ ST o TS e T Fl &1 U
fegfas o=t =t T ©

(1) 3n

2) 4n

3 =n

4 2n

(1)
(2)

10

32,

33.

34.

35.

Hindi+English

Consider the following statements (A) and (B)
and identify the correct answer.

(A) A zener diode is connected in reverse bias,
when used as a voltage regulator.

(B) The potential barrier of p-n junction lies
between 0.1 Vto 0.3 V.

(1)  (A) is correct and (B) is incorrect,

(2)  (A) is incorrect but (B) is correct.

(3)  (A) and (B) both are correct.

(4) (A) and (B) both are incorrect.

The half-life of a radioactive nuclide is 100 hours.
The fraction of original activity that will remain
after 150 hours would be :

2
O 3

2
@ 3 72
@ 12

1
4 22

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference 'V’ volts as shown in figure.

Potential difference across L, C and R 1s 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

10v2 A. The impedance of the circuit is :
VAVAVAY e

— A V—>+—10V—>+—40V—

()
N
v
1) 40
@ 50
® 420
@ B5N20

A body 1s executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy
18 :

(1) 3n
2) 4dn
3 n

4 2n
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36,

37.

38.

39.

U - B ( ifaent )

‘M THAM 99T ‘R’ 559 & 0% 999 See 9§ 90°
VR & HITd U =19 (317d) g2 foan s g1 59 gu
TEE & WIS SIS ATV Sl & g | TSI Sl
TN BT o el & CTFrer] 374 % Wide ‘MR? #1'K
TNE| K FHA T ;

1
(1) '
1
@ 3
3
(3) 1
7
4@ 3

% 9t LCR ufmy H 5,0 T =1 I, 80 W
e o 1T 9T 40 37 F WROYE 230 SieE *
e sEfe % werad s 9@ 99 ¥ SR
HIvia eTgfa W wifsk +t omeft wiam wmrafa w4

AT TG HI RO gt S
(1) 46 dea/49., 54 /4,
2 42 dE=A/4., 58 eu/9.
@) 25 deT/4., 75 Wea /9.
@) 50dszTm/A., 25 Team/4.

T 12a TR A2 IaRY ‘R’ 1 §9H =R TR,
@  ‘a’ Yo % Huag s
@) ‘a’ ST % W F IHER HI YRR FUS §

e ST B |
Uik FHUSHl ol Jrahid fggd STeUl RSl & :
() 8IaZqY 4 Ia2
(2) 41aZ au1 3 a2
3) 3Ia2 913 a2
@  3Ia29du a2

Teh STHETE! SRR ST 220 S & T gid 9
ISR, 11 9152, 44 TN A T T 8 | TRIHHT
H wifera T =Rt T A g, TR aitey | ar
1 BRI § 7

L 2TER
2 4R
@  0.2TFRR
4  0.4TFRR

11
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37.

38.

39.

01
Section - B (Physics)

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the
ring and perpendicular to the plane of the ring is
‘K’ times ‘MR?. Then the value of ‘K’ is

1
@O 7
1
@ 3
® =
&
@ 3

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40 ( resistor is connected to
230 V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be :

(1) 46rad/s and 54 rad/s
(2) 42rad/s and 58 rad/s
(3) 2brad/s and 75 rad/s
(4)  HO0rad/s and 25 rad/s

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coil in the shape of,

1) an equilateral triangle of side ‘a’.
(i)
The magnetic dipole moments of the coil in each
case respectively are ;

a square of side ‘a’.

(1) 3Ia2and4]Ia2
(2) 41a?and 3Ia2
(3 +/3laZand 31a2
(4) 3IlaZandlaZ

A step down transformer connected to an ac mains
supply of 220 V 1s made to operate at 11V, 44 W
lamp. Ignoring power losses in the transformer,
what 1s the current in the primary circuit ?

1 2A
@ 4A

@ 0.2A
@ 04A
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41.

432,

T WES i 27 F< TF 220 T T SRR B
21 3 foeres w991 §g w9 81 99 gg & fave
I TUAT ST |

1520 9o
1980 Jee
660 AT

1320 9ee

1)
(2)
(3)
@)

R, 1 R, TRt =1 < =etehi™ goiid o9 U ao |
THohT%d W ¢ 1 3R R, >> R, T 37k A&l TR
e ‘M T S E

(1)
(2)
(3)

)

T&F ‘m’ ESFAM H1 H YAl 9ag § FAE AT
v=kV_ (k < 1) ¥ wafa foman s ¥

(V=TT o)

U1 F T T8 F TR U Aferan S €

R2k

O

Rk?

2)

(3)

(@)

12

40,

41.

42,

Hindi+English

Twenty seven drops of same size are charged at
220V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

1) 1520V
(2) 1980V
@3 660V

4 1320V

Two conducting circular loops of radii R; and R,
are placed in the same plane with their centres

coinciding. If R; >> R, , the mutual inductance
M between them will be directly proportional to :

o E—i
@ ﬁ—%
®
@ Rﬂ—f

A particle of mass ‘m’ 1s projected with a velocity
v=kV (k <1) from the surface of the earth.

(V. =escape velocity)

The maximum height above the surface reached
by the particle 1s :

R
(1) 1+k
Rk
®
2
k
(3) R(E}
2
k
@ R(m]

sh

T
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43.

44,

45.

T 200 .17, THE1E 741 500 TH S5 &l T4 B
Th o991 % 40 9H, W | dgfam e g1 @
2 fF.m. 1 2=mm 25 ¥/ 20 9.1 | Fafiea fwm
ST & 1 T ST T m’ B 9 160 WA
from @ frarfiaa foren ST 81 910 T ‘w’ 1 AE
0 B Ao e ¥ Wi (g=10 1./4.2)

0 20ecm 40 cm 160 cm
L5,
2 kg m
i
o = fFm
6
(2) L &
12 7
i
(3 = &
2
i
@ 3 R,

TF 0.15 TR 1 7T 10 . S9E 9 el st &
oI STHI TR T H9R O S8l 21 T |

dAME MF AT FHT ufimrer ghar &, AN

(g=10HI1./4.2)

(O 2.1 xHL /=
@ lL4afFEmxd/a
(3 ofFEIm x4 /3.
@ 42fFEm x@./A

T %0 R 551 % g0 o 99F 9t 9 0 F49 g0
THR QU FA H T 990G a1 ¢ |

afs =t o ffas | W WA ¥ F0 00 W gwfa
o ST, 1 4R 3 SRR Siferay EE W A |
TEqur St o fem S ¥

1
YA
(L) 0=sin"! ik
eT?
1
@  8=sin"" 261" A
w2 R
1
;
3 B=cog ! gTE]A
3) =
T R
/ :
(4) 6=cos! 11-2_R %
kgTz

13
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44,

45,
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A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg is suspended from the rod at 20 cm
and another unknown mass ‘m’ is suspended from
the rod at 160 cm mark as shown in the figure,
Find the value of ‘m’ such that the rod is in
equilibrium. (g= 10 m/s%)

0 20cm 40 c¢m 160 cm
A
2 kg m
o ke
(2) % kg
(3) % kg
@) % kg

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulse imparted to
the ball is (g= 10 m/s2) nearly :

(1) 2.1kgm/s
2 l4kemfs
@) O0kgmis

4) 4.2kgm/s

A particle moving 1n a circle of radius R with a
uniform speed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

(1) 0 =s1n F
1
2) 0 =gin ! 2gT2 A
R
%
_ 1] gT?
(3) 0 =cos {nﬂz—-}
1
(4) 0 =cos | {ﬂ}/‘?
2
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46, TR T ufun o, frawh fesien fame iR A, B o
C R s 54 W €1 Ry R frla fama =
T ?

. ty, ty tg ty 5 Tg
A
5 : : : | : i
B ; : : :
0 ! . ! . : :
C E
0
A
o >_
° ) o
.O_
¥
C JD
O
ty ty tg oty ty 4
¥
(1)
] -
—5hV
@ 0V
(3) 5V
— 5V
@ L_ov
A7, TIEEA
- (—} —>)
F=q\vxB
— M g g
—qux|Bi+Bj+Byk

M M it

; —
Hoq=1T" v=2i+4j+6k
— Fay Fay FaY
F=4;-20j+12k P [
B 1 WUl TR R ?

My ra i

1) 8;+8;—6k
@  6i+6;-8%
®  _gi-8;-6k
@  _67-6-8k

14

46,

47,

Hindi+English

For the given circuit, the input digital signals are
applied at the terminals A, B and C. What would
be the output at the terminal y ?

t;, ty tg ty ts tg
A
0—— o
B :
0 s
C
0
A
>7
B
D—
—
C k
O—
b oty by bty te
&
1
@ | L [ I ] | w4
—5V
@ | 0V
(3) 5V
— 5V
(4) | oV
In the product
— - =
F=q(UXB)
—F At At Fat
=qux\Bi+Bj+Byk
S5 A A A
Forg=land v=2:i+4j+6% and
—_— T i ral

F=4;{-20;+12k

_>
What will be the complete expressionfor B 7

M ' M

D) 8i+8;-6k
@  67+6/-8k
@) —8?—3?—6@
@  _gi-6j—8k
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48, T HR Toameen 9§ oy w34 § 997 5 TA2 9

T Bt B 1 t=4 FHUE WHR T &S Al g TF
Tig Tass! F e FRE st 81 t=6 9ve Wi
T O TAT &0 T &l @ 2 (R 2 0 g=10 H./AL2)

() 20/2H./4., 0
@ 2042 "4, 10 HLA2
(3) 204, 5 H./A2
(49 20HLA, 0
49, TS T 99L& AR 1, r, VAT r, WieRIE A i
wfdierer <ig T €| uituy ¥ wgem wfadel & wdl
IR ?m ST ¥
1
ry
(1) I‘l +1‘2
Xy
(2) 15 +1‘.‘3
Xy
(3) I '|'1‘.‘3
rp
(4) Yo +I‘3
50. 30 W.HI. wRd gl % 399 o 9 60 9HL g W

T fag avg Suftem ¥1 9k ww awaa gdv, e
3787 & TTFEE a9 THH 40 WA gl W @ W g, @
a1 yiaferea g seem <4

A

+—G0 cm—r»—40 crm—

SNONNNN NN

Q) 30 .. TGS YW W, TE SR Ufafa=
BT

@ 20 9. TS YW F, TE ST Ufafa=
BT

(3) 209 &7 9, I8 arxfas glafsw 2om|

@ 309 &7 9, 98 arfas glafaw gom|

15

43,

49,

20,

01

A car starts from rest and accelerates at 5 m/s2,
At t=4 g, a ball is dropped out of a window by a
person sitting in the car, What is the velocity and
acceleration of the ballatt=6g?

(Take g= 10 m/s2)

1O 2042 mis, 0

(2) 2042 m/s, 10 m/s?
(3) 20 m/s, 5 m/e?

(4) 20 m/s, O

Three resistors having resistances ry, 1, and ry
are connected as shown in the given circuit. The

. I3 ) )
ratio — of currents in terms of resistances used
11
in the circuit 1s ;

e
@ Gen
@ Hom
(4) I'EI:EI'?.

A point object is placed at a distance of 60 cm from
a convex lens of focal length 30 cm. If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 cm from it, the
final image would be formed at a distance of :

A

+—B0 ecm—»<—40 con—>

MNON N NN N NN

(1) 30 cm from the plane mirror, it would be a
virtual image.

(2) 20 cm from the plane mirror, it would be a
virtual image.

(3) 20 em from the lens, it would be a real
image.

(4) 30 cm from the lens, it would be a real

image.
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91,

52

53,

54,

55,

96,

57,

JATUNT - A ( T )
BF, U qHacila Td goisei = difien 21
AT T WO e 6 Rl IR TelF2+1 ol QA
%,ﬁv‘q‘ﬂ::

() sp’Ud6
(2) sp2UdS8
(3) spiUA4
@ spiUHE

=1 arfufirensti § 9 =59 g fasamm sifufea €2
e foremed = |

() Fe+2HCl— FeCly+H,T

@  2Pb(NO,),—> 2PbO +4NO, + 0,1

@  2KCI0,—2— 2KCl+30,

4  Cry04+2A1—2 5 AL O, +2Cr

TeATEad UERa L el A © ;
1)  CHO

@ CH,0

3  CgHyy

@  CHGO

T (K) W EBATYEHA #1 pK,, T& TEifs o &
pK, A FH: 3.27 TS 4.77 T TEAMIISHITER

THiee faeem & pH 1 98 fasea § ¢
1 775
2 625
3) 850
@ 550

ST TARES & 3 951 U a9 STee o
Wﬁ%
(1) T fgos U6 W@

@) <FH §Een
(3) HHW: 4G TE fga®
@ <FE &

Zr (Z=40) T Hf (Z =72) & WHIaF U5 =6
ol 9 €| 39 FRO E

1) oS s

@) < % TR o Jh e €

(3) < 9HF 9 F 9T ¥

(4) Topul Ty

st sfean e, 75 fooalt 1 T TF 1,368 kHz
(forelt T351) = TP W TARD FAq1 81 T
(ZiwHeR) R Seafsia foga g fafem =
TOTRHA & : [T FT I, ¢c=3.0x 108 ms 1]

() 2192m

@) 21.92cm
@ 219.3m
4 219.2m

51,

52.

53.

54,

55.

56.

67.

Hindi+English
Section - A (Chemistry)

BF, is planar and electron deficient compound,
Hybridization and number of electrons around the
central atom, respectively are ;

(1) spZand$
2) spZand8
(3) sp3and4
(4 sp3andé6

Which of the following reactions 1s the metal
displacement reaction 7 Choose the right option.

(1) Fe+2HCl— FeCly+H,T
@  2Ph(NO,),— 2PbO+4NO, + 0,1
@  2KCI0, —2— 2KCl+ 30,

@  Cry0,+2A1—2 ALO,+2Cr

The compound which shows metamerism 1s :

1) CHO
@ CH,0
(3) CEH 12
@  CoHgO

The pK;, of dimethylamine and pK, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
solution is :

O 775
@) 625
@) 850
@ 550

The structures of beryllium chloride in solid state
and vapour phase, are :

(1)  Dimer and Linear, respectively
(@)  Chain in both

(3)  Chain and dimer, respectively
(4)  Linearin both

Zr (Z.= 40) and Hf (Z = 72) have similar atomic and
ionic radii because of :

(1) lanthanoid contraction

(2)  having similar chemical properties
(3)  belonging to same group

(4)  diagonal relationship

A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz).
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x10%ms 1]

1) 2192m
(2) 21.92cm
(3) 219.3m
4 2192m
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58.

59.

60.

61.

62.

63.

U FEFE ANTE 8 78% (R §) FET Ud 39

TRIe SRgISH 1 7§ | 39 AT % qarga! 3=
TS T & [T YR : C=12, H=1]

() CH,

@ CH,

8 CH

@ CH,

T SRUHHEERE (EDTA) 3TFF §

L) BN RIS % Wy SRR e

@ <N T et & Wy PR e

@)  ERAO” T N AT ULHST o WY ¥EgL
ferre

4 Tk forre

= i 9] o1 toEel 4 ¥ 9 gedast v

AT TIeTTaehi O SeTTeie & 2
(O TR wREs

@) SfTH FTORES

(3) HfeyEd TRNES

@) iy FTRES
Hfoed g =1 % g0 R e s €177 =

farea g |

(1) = fEeE
@ I faem
(8) NaClfaezm

@ T faee

NaCl, HC1 U8 CH,COONa & 3Td d3d1 W Hier
HTeAehdl Ol 126.45, 426.16 T8 91.0 S em2 mol — 1
T | 37a 991 R CH,COOH i HieR 1eehd & |
(1) 69828 S emZmol 1

(2) 540.48 SemZmol—!

(3) 201.28 S cm?mol 1!

(4  890.71 SemZmol 1

2.6-SEH - 437 1 & A=A

=
L

=
F

58.

59.

60.

61.

62,

63.

01

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
is ; [Atomic wt, of Cis 12, H is 1]

() CH,
@ CH,
3 CH

4 CH,

Ethylene diaminetetraacetate (EDTA)ionis :

(1)  Bidentate ligand with two “N” donor atoms

(2) Tridentate ligand with three “N” donor
atoms

(3) Hexadentate ligand with four “0” and two
“N” donor atoms

(4) Unidentate ligand

Among the following alkaline earth metal halides,
one which is covalent and soluble in organic
solventsis :

(1) Magnesium chloride

(2)  Beryllium chloride

(3)  Calcium chloride

(4)  Strontium chloride

The right option for the statement “Tyndall effect
is exhibited by”, is :

(1)  Starch solution

(2)  Ureasolution

(3)  NaCl solution

(4) Glucose solution

The molar conductance of NaCl, HCI and
CH;COONa at infinite dilution are 126.45, 426.16
and 91.0 S em? mol ~1 respectively. The molar
conductance of CH,;COOH at infinite dilution is.
Choose the right option for your answer.

(1) 698.28 S cm? mol ~1

(2) 540.48 S cm?2 mol ~1

(3) 201.28 S cm? mol ~1

(4 390.71 S cm? mol ~1

The correct structure of 2,6-Dimethyl-dec-4-ene
18 ;

I
&
F
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64.

66.

67.

63,

69.

Fel 14 TR STol STETehi i 370: ehi-d Waheh hiftgeral
(2
@ 3
@ 7
4 5

=1 ag@i O 9 B AT 9ga®A & g i
fopan e & 7

(1) e
(2) EHH

(8) <UAM

(4) TBA-66

=1 Tt i 9 fofda s dife =
[UPAC TH 1 & 7

s (i) CoH-MgBr, T $eR s TS

(i) H,0, H

(1)  U<A-3-31fd

@)  2-Tfe FgeA-2-3id

(3)  2-Hfee WoH-2-3e

(4)  UA-2-311d

Geft-1 =1 e |=i-11 | 1 |
-1 TEr-11

@ PCly G = fquiaet

k) SFg @) Freig guaad

©  BrFy (i) STHRIA

@ BF, Gv) Feremoft fgfuafie

i fou o fasedi o 4 W SO |

(L) (a)-(G1), (0-Q), (©)-av), (d)-G1)

@  (@)-Gv), (b)-(iid), (¢)-(i), (d)-()

@) (a)-Gv), (h)-(id), (c)-(1), (d)-(1)

@ (a)-id), (b)-(iii), (c)-Gv), (d)-()

fed Y sma e

(1) oIFTaE w1 e o & or=e =imer o

@ UfArTe st afufranie aad E, fam
w9 9 5 o gau fofsm 8

(3 T ST W GO A U ae § T
T 1 TfaArTe ogad o1 §

@) et Freash d-€aras e 3 e |
LU E R

WA & T <ot Hevv § fgga o e

1 60°

2

@) 120°

4)  180°

18

64.

65.

66.

67.

68.

69,
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The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cells is :

Q2
@ 3
@ 7
@ 3

Which one of the following polymers is prepared
by addition polymerisation ?

(1)  Novolac
(2) Dacron
(3) Teflon
(4)  Nylon-66

What is the IUPAC name of the organic compound
formed in the following chemical reaction ?

(i) CoHsMgBr, dry Ether

Acetone s Product
(ii) Hy,O, HY
(1)  pentan-3-ol
(2) 2-methyl butan-2-ol
3)  2-methyl propan-2-ol
(4)  pentan-2-ol
Match List - I with List - I1.
List -1 List - 11
(@ PCl; @) Square pyramidal
(b) SFg @)  Trigonal planar
(¢  BrFg (i) Octahedral
d BF, (v} Trigonal bipyramidal

Choose the correct answer from the options given
below,

1) (a)-Gid), (b)-@), (©)-Gv), (d)-()
2 @-w), ()-(id), (0)-(d), (d)-@)
@) @-v), (b)-(id), (0)-(), (d)-(id)
@) (@)-(), (b)-(id), ()-(v), (d)-G)

The incorrect statement among the following
18 !

(1) Lanthanoids are good conductors of heat and
electricity.

(2) Actinoids are highly reactive metals,
especially when finely divided.

(3)  Actinoid contraction is greater for element
to element than Lanthanoid contraction.,

(4) Most of the trivalent Lanthanoid ions are

colorless 1in the solid state.

Dihedral angle of least stable conformer of ethane
18 ;

QO e
@
@  120°
@  180°
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70. S & FEm w1 wE e e g4 S fafie an
R I F A vs. 3T ] TS0 =@ ;

(1)

2)

(3)

@

7. ‘C-X ¥4 I 5y TN FEH FH T

CH;—F<CH,;—Cl>CH;—Br>CH, I
CH;-Cl>CH;—F>CHy;—Br>CH, -1
CHy—F < CHy—Cl<CHy—Br< CH,—1
CHy;—F>CH;—Cl>CH,;—Br> CH,—1

72.  TESISH FI U eAIUfas guwei-sh, gufead, fr=

(1)
2)
(3)
@

—

Pressure (P)
(bar)

—

(bar)

Pressure (P)

—

Pressure (P)
(bar)

—

Pressure (P)
(bar)

EN

&

/&

%

S

[+
‘bﬁﬁ$

Volume
(dm?)

V) —

600 i
o

Volume

V) —>

(dm?)

200 K
00
(O

Volume
(dm3)

(200 K, 400 K, 600 K)

V) —

Volume
(dm?)

V) —

H | o7 0 &7 Sesi S £ 2

(1)
2)
(3)
€Y

AT (y)

2 (n)
2T (B )
STTH (o)

19

70.

71

72,

01

Choose the correct option for graphical
representation of Bovle’s law, which shows a graph
of pressure vs. volume of a gas at different
temperatures ;

D

2)

@)

4)

%

B

)
)
VS

Pressure (P)
(bar)

Volume (V) —
(dm?)

Pressure (P)
bar)
S

oy

Volume (V) —»
{dm3)

200
00

Pressure (P)
(bar) —F
(

Volume (V) —»
(dm?)

E—

(200 K, 400 K, 600 K)

Pressure (P)
(bar)

Volume (V) —
(dm?)

The correct sequence of bond enthalpy of ‘C—X bond

188

1)
)
@)
G

CH;—F < CHy— Cl> CHy— Br > CHy -1
CH;—Cl>CHy—F > CHy—Br > CHy -1
CH,—F < CH, - Cl< CH,—Br < CH,—1I
CH,—F > CH, - Cl> CH,—Br>CH,—1I

Tritium, a radioactive isotope of hydrogen, emits
which of the following particles ?

ey
2)
3
€Y

Gamma ()
Neutron (n)
Beta ()
Alpha ()
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73.

74,

76,

76,

HIATL :

3T w2 T T SRR S8 ©
HF <= HC] << HBr << HI.

HATIL ;
S-S TR H A9 M W TA F, C1, Br, [ %1 3THR
= Sl § 99-a9 HF, HCl, HBr U4 HI & 94 &1
TereTaT S Sl § | ST ST WrHed wedl S & |
YT I ok TR H A feu gu foemedl # 9 wet
WA |

1) HATITH T AfFT R I e B
@) HATI oW & AfFT w1 wE ¥
(3) T RHITI TE HATII FE & |

@ 2 ST TS wAT I T £ |

I < T few o €

91

TffE T faemie WU fERi (ARFIfaw
Tesifeer) o & 1

w1l :

AR Ua 38T FEIF SRl (AH-AH I eF
THesiTaw) o7 % ¥

UG G ok TRE H A U gu foemedl | 9§ wet
ST |

1) ®uTIEE g AfET A I o

@) HATI oW & AfFT w1 wE ¥

(3) TH HITI T HATILI TR & |

@ 2 ST TS wAT I T £ |

= § & %8 @ fowcy ws A ey 9 % fau
Cp Wd Cy, o Rl He™l whl =] Ll § ?

() Cp=RCy

@  Cy=RCp

(® Cp+Cy=R

@) Cp—Cy=R

TN Wl H UT TR ST Heh ST S7Teehad arge M
g
@)
2)
(8)
@

1900 K%
5000 K%
1200 K%
2200 Kd+

20

73.

4.

76,

76,

Hindi+English
Statement I :
Acid strength increases in the order given as
HF << HCI << HBr << HI,
Statement I1 :

As the size of the elements F, Cl, Br, I increases
down the group, the bond strength of HF, HCI,
HBr and HI decreases and so the acid strength
increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false.

(2) Statement I 1s 1ncorrect but
Statement I1 1s true.

(3) Both Statement I and Statement II are
true.

(4)  Both Statement I and Statement II are
false.

Given below are two statements ;
Statement I :

Aspirin and Paracetamol belong to the class of
narcotic analgesics,

Statement IT ;
Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false.

(2) Statement I is incorrect but
Statement II is true.

(3) Both Statement I and Statement II are
true.

(1)  Both Statement I and Statement II are
false.

Which one among the following is the correct option
for right relationship between Cp and Cy; for one
mole of ideal gas ?

@ Cy=RCp
@ Cp+Cy=R
4 Cp—Cy=R

The maximum temperature that can be achieved
in blast furnace 1s :

(1)  upto 1900 K
(2) upto 5000 K
3) uptol200K
4  upto2200K
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et stfuferar AB & fou sifufirm =1 ot
— 4.2 kJ mol ~ ! U= G TEH 9.6 kd mol 1

T7.

T afafean & fau w8 fafae o= e

fameq o ufiig forar T 2
1WAN
1) BE| & 5

Reaction Progress

A

! B

(2
) PE A
Reaction PngTEES
M
3 PE /\B
A
Reaction Progregﬂ
M
@ PE A
B

Reaction Progress

78,  Tre H § forw faty = Sy ¢ sty go o =

T e | & S FHHLH aY WEa g ?

1) 3
(2)  HEE IR
(3) ey 1T
(4)  SUAfEeh
79. RBC &l FHI, T A W1 8 ¢
(1 faafmB, =t
@ T B, H
@ fRfEB, H
@ T B =

21

7.

78.

79.

01

For a reaction A—B, enthalpy of reaction is
—4.2 kJ mol~! and enthalpy of activation is
9.6 kd mol~1. The correct potential energy profile
for the reaction 1s shown in option.

f

1 /\

D
Reaction Progregs
M
A
@) A
Reaction Progregs
A
PE /\
@ I B
Reaction ngre;s
A
PE /\
@) A 2

n -
Reaction Progress

Which one of the following methods can be used to
obtain highly pure metal which is liquid at room
temperature ?

(1)  Distillation

(2)  Zone refining

(3)  Electrolysis

(4)  Chromatography

The RBC deficiency is deficiency disease of ;

(1) VitaminB,
(2)  Vitamin B,
(3) Vitamin B,
(4)  Vitamin Bg
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80.

81,

82.

83,

1= T st § 7@ AR #

CHj
CH-CH=CH,+HBr
3

(CH5C0),0, o

CH,

L) “CH-CH-CHj
|

CH
3 Br

CHj
“CBr—CH,—CH,4
CH,

CHj
/CH - CHE— CHE— BI‘
CH,

CHj
CH - CH,— CHy— 0 —COCgH,
CH;”

(2)

(3)

(@)

Torelt eI ST (R Tafffee) wawes Fifes
A SICEhT TE sTeweshE s ot den 8y
LERCETS &

1)
(2)
(3)
(4)

2.1
12, 6
3, 4
6, 12

SFe WH A ! Tt stfufer % ufa
SATHIAT o RO TS § | S AHIi-4d 3T H24H Hl
TEAH |

(1) <SG gee afiET o9 2 2

@) 3P A % Tere wfey GHed w AF =
YT BT 2 |

IF 8 5 | o1y o ¥
o= T & TS Ud FaeHie o0 3= o
gl

2-3i1 T & formmegiieisi-ener srfufsran =1 g
IO UE.2.59 ¥ | 9o 3e o fmiw amenfid g
g

1)
@)
3)
(@)

(3)
)

FIREA fom W
Tl | ™
Tk fm W
30E A W/

22

30,

31.

82,

83.

Hindi+English

The major product of the following chemical
reaction is :

CH,
" CH-CH=CH, +HBr {Ce1:C0):0; 9

CH,”
CHy
CHy” l

Br

CH,

2 _CBr-CH,-CHj,
CH,
CHj

(3) /CH—CHE—CHE—BI'
CH,
CHy
CH,4

Right option for the number of tetrahedral and
octahedral voids in hexagonal primitive unit cell
are ;

1 21
@ 12,6
3 8,4
@ 6,12

Noble gases are named because of their inertness
towards reactivity. Identify an incorrect

statement abhout them.

(1) Noble gases have weak dispersion forces.

(2)  Noble gases have large positive values of
electron gain enthalpy.

(3)  Noble gases are sparingly soluble in water.

(4)  Noble gases have very high melting and

boiling points.

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane is Pent-2-ene. This
product formation is based on ?

(1) Hofmann Rule
(2)  Huckel's Rule
(3)  Saytzeffs Rule
(4) HundgRule
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84.

85.

86.

34 AT Wi UeEH o femen a1 & W foren

ik I FATEN S &R | Seeie ©

CH,
1 CcHy”  SNH,

CH, CH,
@ cHy "“Ilﬂ"" CH,

CH,

CH,
® CcH No,

CH, . CH,
@ Ccuy SN~

=1 Taer==i =50 <= 7=

250 m] STeT H 10 g TRIE (CgH50,) Tl =TT (Py),
250 ml 561 H 10 g @& (CH,N,0) Fl Sierahd (Py)
TS 250 ml 51 H 10 g GHE (C;,Hpp0,,) Fl ST
(Py) | 3 Torcmrl o TURRY @l o Hed %A a1

faweT ¥

() Py>Py>P,
@ P,>P,>P,
(3) P,>P,>P,
4 P, >P,>P,

U - B ( TR )

Geit-1 =1 frem |=i-11 | 1 |

geiit-1

@  280,(g) +05g)— @
280,4(g)

(b HOCKkg) v, (1)
OH+Cl

© CaCOy+H,S80,—~ (iif)
CaS0,+H,0+CO,

@ NO @) _bv (iv)
NO(g)+ O(g)

9 fou e faredi A TR ST |

() (@)-Gw), (b)-(ii), (c)-(D), (d)-(ii)

2 (a)-(u1), (0)-Q11), (c)-Gv), (d)-Q)

@ (2)-@). b)-Qi), (¢)-(id), (d)-Gv)

4 (a)-{), (b)-(iid), (c)-(iv), (d)-@

23

84,

85.

36.

01

Identify the compound that will react with Hinsherg’s
reagent to give a solid which dissolves in alkali,

(1)

)

(3)

)

CH,
cH”  SNH,

CH, CH,
cay” SN el

CH,

The following solutions were prepared by dissolving
10 g of glucose (CgH,50¢) in 250 ml of water (P,),
10 g of urea (CH,N,Q) in 250 ml of water (P,) and
10 g of sucrose (C 3Hy50,¢) in 250 ml of
water (P3). The right option for the decreasing
order of osmotic pressure of these solutions is

ey
2
@)
4)

Py >Py3>Py
P,>P,>P,
Py >P,>P,
P,>P,>P4

Section - B (Chemistry)

Match List - I with List - I1.

(a)

(b)

©

(@

List -1 List-11
250, +0,(g)— (@) Acidrain
250, (g)

HOClg)_bv | (i) Smog
OH+Cl

CaCO4+Hy30,— (iii) Ozone
Ca50,+H,0+CO, depletion
NOy(g) _bv_ (iv) Tropospheric
NO(g)+O(g) pollution

Choose the correct answer from the options given

below.

ey
2
@)
@

(@)-(v), (b)-(iii), (¢)-(i), (d)-Gi)
(a)-(ii), (b)-(i1), (¢)-(v), (d)-(@)
(a)-@), (b)-(ii), (¢)-(iii), (d)-(iv)
(@)-h), (0)-(iit), (¢)-(1v), (d)-{)
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O1 24 Hindi-+English
87. 1= vt sifufsan O gemadi s | 87. The intermediate compound ‘X’ in the following

chemical reaction i3 ;

7
0
CH, C I
.
CSs, H,O* C
+Cr0,Cli—> X —— = e Ccs,  H;O7 ~H
+ CrQ,Cl,——= X >
Cl
7
CH _~Cl
~c1 CH
(1) "Bl
@D
_~Cl

-l
CH_ .

9 H

- -
CH(OCrOHC1

&) O/ (OCrOHCL), 2 : CH(OCrOHCL,),
CH(OCOCH,),

@ O/ @ : _CH(OCOCH,),

88. Te-1 = fiem geir-11 9 i |
‘Fﬁﬁl 88, Mateh List -1 with List - I1.

-1 -1 List - I List - II
CO,HCl
(2) FaAlC () So-wers- @) Aﬂ:{;’ 51?:11 > () Hell-Volhard-
Cu(l Sfe afafE L .Cu Cllg Zelinsky reaction
0 0
(b) R ('ﬁ CH, + (i) TIeTHF-HE I
. i R b R-C—CH.+ (1) Gattermann-Koch
NaOX —— afsrfEa NaOX _,,3 reaction
) Sl =0l (i) TR AR (©) R—CH,—OH Gi) Haloform
+R'COOH +R'COOH reaction
WA oS0y Cone. HoSOy |
(d) R—CH,COOH (iv) TEERT d R-CH,COOH  (iv) Esterification
HXEap (i) Xo/Red P _
(i) HyO (i) HoO
=il 9T T feshedl | § T S ? | Choose the correct answer from the options given
D @-G), b)-Gv), ©-(id), (d)-Gi) below.

® (@), ()G, ©-Gv), @0 O B0, O/ EEEL00
@ @), B-Gid), -G, @)-0)

3 -(v), (b)-(), (e)-(11), (d)-(11
& @006 (d) o & @), b)), ©-6), @G
(4) (Ei)-(]ll), (b)'(ﬂ): (E)-(l), ( )-(11;) (4) (a)-(iji), (b)-l:]l), (E)-(i), (d)-(lv)

T
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89.

90.

91.

= et sifufeen § ffda sae &
T 2
CH,—-C—-0CH,
NaBH, .
CH, CoH,0H
OH o
CHE-—(:j—CH3
(1) OH
CH,
OH 0
cHQ—("J—OCH3
2
CH,
OH H
F CH2—¢-OCH3
(3) OH
CH,
0
CH,—-CH,-OH
@

CH,

1 TR 3§ 0°C W U fagw 59 4 ¢ 0, TH
2 g H, @l T8 3, 3UH Fo1 I« (atm H) F F&

forshed =l A |
[ ™% : R=0.082 L atm mol~ 1K1 T=273 K]

(1) 25.18
@  26.02
3) 2518
@ 2602

45°C T T Taeaq oy s<im T sifae &1 9ieR
ST 3 : 2 B, I A9 T & T H el T
3

[45°C TR =i o1 9157 <o 280 mm Hg T 1A
= A T 420 mm Hg §1 2728l 19 7]

() 336 mm Hg
(2) 350 mm Hg
(3) 160 mm Hg
4y 168Smm Hg

25

89.

90,

91.

01

The product formed in the following chemical
reaction is ;
2 0
I
CH,-C-OCH,
NaBH, ,
C,HyOH

CH,
OH -
[

CH,~ O~ CH,

) o

Q,

CH,

OH 0
Il

CH,—C—OCH,

@)

Q,

CH,

OH H
|

CH,— (I: - OCH,

3) OH

CH,

CH, - CH, - OH
)

Y

CH,

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g O, and 2 g H, confined
in a total volume of one litre at 0°C 15 :

[GivenR=0.082 Latm mol 1K~ 1 T=273 K]

1 2518
@ 2602
@) 2518
@ 2602

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3: 2 18 :

[At 45°C wvapour pressure of benzene 1s
280 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

(1) 336 mm of Hg
() 350mm of Hg
(3) 160mm of Hg
(4) 168 mm of Hg
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92. feuwmm ﬂ'ﬂaﬁ 4 H A 8T T TRfd =1 g7 92, Which of the following molecules is non-polar in
(1)  SbCly nature ?
8 POCl 3) 11-0513
4 CH,O @ CH,0
93. TEmfE st % fou A F eifveHE R € 93. The reagent ‘R’ in the given sequence of chemical
NH, Ny Cl™ reactionis:
& 5 Nano, HOL P g o NH: gt
0 - 50 \Q/ Br Br NaNO,, HCI Br Br a BEr Br
&_ S s Y Y
()  HI Br Br Br
2) CuCN/KCN (1) HI
(3) H,0 2) CuCN/KCN
(4 CH,CH,OH @ H,0
94,  FEN-T it T geit-11 A =L | 4 CH,CH,0H
-1 Tel-11 94. Match List - I with List - II.
(a) [Fe(CN):]3~ @) 592 BM List-1I . List -11
b [FeOg™ @ OBM L
_ e 11
(3) [ge (ENéﬁ]le (in) j'gg Eﬁ © [FelCR)J4~ (i) 490BM
iﬁ% ﬁé ‘;(I 20)g]* 55 Féfﬂ_zm ? | @  [Fe(H,0)g2+ Gv) 173BM
Ferehedi Choose the correct answer from the options given
L (a)-@), ©)-Gib), (©-Gv), (d)-Gi) below,
2 (2)-Gv), )-Q), (-, (d)-(1iD) Elg Eag-gi), (b(]);)(il('i)), EC)) ((i‘)’) ,(Eg) ( (ii;
3 L69), (b)), (-6, (d)-(ii 2 @-iv), b)-0), ©)-Gi), ()-Gii
&) @), (0, ©-0, -G @  (@-(v), b)-Gi), (0)-6), [@)-Gi)
R DAETE R @ @D, ©)-G9), -G, @-6)
95. Tl & Frfafes 3o §f | $59 u gt SRR , ,
70 e 95. From the following pairs of ions which one is not
? an iso-electronic pair ?
(1) Mn2+, Fed+ 1; Mn2+ Fe3+
@  Fe2+, Mn2+ g F;é + ’M§z+
3 O, F- @ 02, F-
4) Na*, Mg2+ (4) Nat, MgZ+
96. THamiry uffefaai o ot oy 79 % sTeFavim | 96.  For irreversible expansion of an ideal gas under
T ¥ foT OE faeeu & isothermal condition, the correct option is :
(1)  AU=0, AS 570 1) AU=0, A5, #0

4)  AU#0, AS,. %0

@ AU=20,AS,,,,=0
@)  AU#0, AS, %0

97. 0.007 M THIfe®: Tt &1 AT FTASAT | 97.  The molar conductivity of 0.007 M acetic acid is

20 8 em?2 mol — 1 ¥ | THifES 31 o oA T 20 S em?2 mol— 1. What is the dissociation
FNE? TR Tawew g | constant of acetic acid ? Choose the correct option.
A’ . =350 S cm® mol ! A’ =350 3 cm” mol ™!
H H
A° _ =508 cm? mol ! A° =508 cm? mol !
CH3CO0 CHaCOO
() 1.75%10"%mol L~} 1)  1.75%x10~5 mol L=}
(2) 2.50x10"%mol L1 2 250x107° mol L1
(3) 1.75x10"*mol L~! (3  1.75x10"% molL~!
@) 2.50x10-4mol L~L 4 250x1074 mol L~!
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98.

99.

100,

101.

102.

gt werg =hife =t 21fferan = foau s TR

[ln k vis %J FIATIN — 5 x 103K &1 safman

% fAu E, =1 7 1 9t forerew = |
(&= T/ & : R=8.314 JK~lmol ~ ]

() 166 kJmol !

(2) —83kIJmol!

(3) 41.5kImol~!

@  83.0kJmol~!

CH,CH,CO0~Na+ — 202 CH,CH, +
Na,CO,.

Irea TR T sTuReer S1firten e = veaH |
(1) CaD

(2> DIBAL-H

3 B,H,

(4) T BERRH

= o 9 Tor =z o, 377k T 9aTe T4 ToreH %
SR, 3fea A 72 e wn g2

() NH;<PH, I A
“:ASHg“: Sng E@Wﬁ

@  CO,<8i0, STTFTaRTT &7 6
< 8n0, < PhO, TR FAY

(3) HF<HCI AT THE &6
< HBr < HI HEd A H

4 HyO<H,S pK_ A & =1gd 3FH
< HySe < HyTe H

AU - A (SHHaferr ; sreafafesr )

T ST, YTt % o e wiean §
itaet 39T 1 Taem & a7 T sasifa w82

1 fe=Em

@  HifeeEs

(B) SRTAT

@ ST

gfiusel STeRyT § UFH UTEl CRETL|
feafafend S IR M@ &2

Q) 7-HFEFE SR 7

@) 8- FEHY IR 8-

@)  8-FEHmH IR 7-FyE=

@)  7-FEHE IS HNTHE

27

98,

99.

100.

101.

102,

01

1
The slope of Arrhenius Plot [11:1 k vis T} of first

order reaction is —5x 103 K. The value of E o of
the reaction is, Choose the correct option for your
answer,

[Given R=8.314 JK ~1mol ~!]

(1) 166 kJmol~!
2) —83kJmol!
(3) 41.5kJmol?
(49  83,0kJmol 1
2
CH,CH,C00~Na* — 202" 0. CH, +

Na,CO,.
Consider the above reaction and identify the
missing reagent/chemical.

(1) CaO

(2) DIBAL-H

3  ByHg

(4)  Red Phosphorus

In which one of the following arrangements the
given sequence 18 not strictly according to the
properties indicated againstit ?

(1) NH,;<PH, Increasing
< AsH4 < SbH, acidic character
2 COy,<810, Increasing
< 5n0, < PhO, oxidizing power
(3) HF <HCI Increasing acidic
< HBr < HI strength
4 H,0<H,S Increasing pK,
< HySe < HyTe values

Section - A (Biology : Botany)

During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out:

(1) Histones

(2)  Polysaccharides
(3) RNA

4y DNA

A typical angilosperm embryo sac at maturity 1s ;

(1)  T-nucleate and 7-celled
(2)  8-nucleate and 8-celled
(3) 8-nucleate and 7-celled
(4)  T-nucleate and 8-celled
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103.

104,

105.

106.

107,

Frerferiaa § 9 SF 91 F99 e & 2

(1)  OFChgm! ST, Fg & ST Sufeerm uge
3T FierRger H Suftem vaiel & o= sy
T HE FE S

2) HEF B8, Few IR PFEA F 9= A
fegmsti o O SR SR TAT, ol & forg,
Tk U ] oifd 1 4 T

(3) 99 S Afes aw@l H U WE FEE
R TR iSRS B )

(4)  GTHRM, TR IR Srgell 2 o ure S €

UsF @Wd H S99 &1 T F S 70 & 91 96y
BRAM ITENT H w8 ?

1 2,43

@ SR

(3) IHBLTY,

4 TTUT

(a) N EEESIESED

(b) [ wramr Sl i) |favas

() (iii) |FepferiE

(d) [<id TiEee ARl ga | (v) | SRS S

T T T Fae 3 A W S g
(@ b)) ©

L © @ @G v

@ (i) G @ 0

@ @ v O G

@ v ) @ @

fr=fafen 9 @ =9 o, @@ R (dfas sEen
ATfRaT) 1 T ST T 8 2

1) 9o T W w5 e

(2) SN SCRE 1 94T ST

(®) s fem

(4) S waEE

frfafaa o 9, vifams e sifafran (b wfem)
¥ SR T i W WE FHA 7

Q) R, FfSE, arEier

@  amrEite, TfshEe, TER

8)  THfShIeRt, IEreieH, J9R

(4) TriSEEER, TEOR, qrEier

28
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Which of the following is an incorrect
statement ?

(1) The perinuclear space forms a barrier
between the materials present inside the
nucleus and that of the cytoplasm.

(2)  Nuclear pores act as passages for proteins
and RNA molecules in both directions
between nucleus and cytoplasm.

(3) Mature sieve tube elements possess a
congpicuous nucleus and usual cytoplasmic
organelles.

(4)  Microbodies are present both in plant and
animal cells.

The plant hormone used to destroy weeds in a field
18 ;
1 2,4-D

(2) IBA
(3) TAA
(4) NAA
Match List - I with List - I1,
List -1 List -1I
Cells with active cell .. |Vascular
(a) divisi : @ |,
vision capacity flssues
Tissue having all cells Meristematic

(b) [similar in structure (1)
and function

Tissue having
different types of cells
Dead cells with highly
(d) [thickened walls and (iv) |Simple tissue
narrow lumen

Select the correct answer from the options given
below.

(@ () © ()
O @© @ @ @)
@ @ @ v 6
@ @ m @O @
@ ) @ W O

Which of the following is not an application of PCR
(Polymerase Chain Reaction) ?

(1)  Purification of isolated protein
(2)  Detection of gene mutation

(3)  Molecular diagnosis

4)  Gene amplification

figsue

(c) (111) | Sclereids

Which of the following is a correct sequence of
steps in a PCR (Polymerase Chain Reaction) ?

(1)  Extension, Denaturation, Annealing
(2)  Annealing, Denaturation, Extension
(3)  Denaturation, Annealing, Extension
(4)  Denaturation, Extension, Annealing

collegedunia:s
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108,

109.

110.

111.

112,

113.

114.

115.

T 1 Sk & T, S waHT Rd g U S
i Ty o =i & 79 98 WA o e € 2

O s M
(@) A adEm
(3) SEYEE

L ]

@ SiF fafea

UIEY SHITERIeT A e 5N Siaa Witd T =i
HaFT g ?

(1) T fRui

@ e

@  FEfe

(4) T Tl

frfafes o 9 =9 9 Sa ST SO i § 7
(1) o I

@ e-sia Sera

@ a3

@ e

fEmt goher fored W S € 2

()  HX

@ =S ey

(3) SIS

@ g

FrefafEa H 9 SR A waT G 78 &2

(L) S T e dien 2 8

@ T g YA IRa= | | & e di
B ¥ |

@) TR T SIEuR F e o Ser
2l

(@) TUE T SR # TR Saroder S e
4

frafafae 5 9 29, T § fdos sav=es @

£?

1 To=aeEs, s

@ TR g

(3)  ATHIA, HIEH

@  THE ST, TS

SH forad 9 5| § 7

1) TS IEEqarsiE o

@ Fo T g

(3 HEd

(4 <REwEed

el URETS, O & aeR et % He |
feo 2 & 99 9% T FEATA § 7
() SRR

@  sHleagE

(3) TR

@)  idFE

108,

109,

110.

111.

112,

113.

114,

115,
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When gene targetting involving gene amplification
is attempted in an individual’s tissue to treat

disease, it is known as :
(1) Molecular diagnosis
(2)  Safety testing

(3)  Biopiracy

(4) Gene therapy

Mutations in plant cells can be induced by :

(1) Gamma rays
(2) Zeatin

(3) Kinetin

(4) Infrared rays

Which of the following algae produce Carrageen ?

(1) Redalgae

(2)  Blue-green algae
(3)  Greenalgae

(4)  Brownalgae

Diadelphous stamens are found in :

(1) Pea

(2) China rose and cifrus

(3) China rose
4  Citrus

Which of the following statements is not correct 7
(1)  Pyramid of energy is always upright.
(2) Pyramid of numbers in a grassland

ecosystem 1s upright.

(3) Pyramid of biomass in sea is generally

inverted,

(4) Pyramid of biomass in sea is generally

upright.

Which of the following are not secondary

metabolites in plants ?

(1)  Vinblastin, curcumin
(2)  Rubber, gums

(3)  Morphine, codeine

4)  Amino acids, glucose

(Gemmae are presentin:
(1) Some Gymnosperms
(2) Some Liverworts

(3)  Mosses

(4)  Pteridophytes

When the centromere is situated in the middle of
two equal arms of chromosomes, the chromosome

is referred as :

(1) Sub-metacentric
(2)  Acrocentric

(3) Metacentric

(4)  Telocentric

sh
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116.

117.

118,

119.

120,

121.

Frefoafea § 9 SF W SRE T T BEe 996
T HLA S ?

(1) SURaEH
(2)  SelfeeR foeem
(3) Ui =T

(4) SR YA

F3 99 94 % fefsrior oIk oifcaf Y TR+
SSTTY] SeTfed A & | U™ WISyl S S el ST § 7

() SIS
@  Tomsisms
(3) BHERE

@  BERH

HHF GPP — R=NPP ¥ R &8 frefoa s § 7
(1) YA S

2) &I 9

(3)  Tafeor =it

(4) HEAHH

frefafen o 9 =0 @ Ry SyErame €7
() TR giferaTet

Q) HEHT gl

@) FRewr gurr

4) HN

e, FTEeTSH, HEhRRE 3R Shiewa S% diesi i
gﬁw, fordll o2 & wHa o $9 wefa =t ST
(L)
(2)
(3)
(4)

T ST
TR A
T AT

= TH<TAH

TS UIRY o WATHYT | WAV o, Tk f4=1 91eY &
ST T TR 3 feld s |1 v W 2T €

fore wrTn % SR afden w eIreErE 9§ fie
YT & TR S S § 2

(1) S ROl

2) AT Tl

@) I

@ IS T

30
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Hindi+English

The factor that leads to Founder effect in a

population is

(1)  Mutation

(2)  Geneticdrift

(3)  Natural selection

(4)  Geneticrecombination

Genera like Selaginella and Salvinia produce two
kinds of spores. Such plants are known as :

(1) Homosporous

(2)  Heterosporous

(3) Homosorus

(4)  Heterosorus

In the equation GPP — R=NPP
R represents ;

(1)  Environment factor

(2)  Respiration losses

(3) Radiantenergy

(4)  Retardation factor

Which of the following plants is monoecious ?

(1)  Marchantia polymorpha
(2) Cyeas circinalis

38) Caricapapaya

4)  Chara

The amount of nutrients, such as carbon, nifrogen,
phosphorus and calcium present in the soil at any
given time, is referred as :

(1) Standing state

(2)  Standing crop

(3) Clhimax

(4) Climax community

The term used for transfer of pollen grains from
anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to stigma, is :

(1) Chasmogamy
(2) Cleistogamy
(3) Xenogamy

(4)  Geitonogamy

sh
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129 ‘{:Eﬁ'- I Eﬁ‘gﬁ%ﬁ'- II #m&xgﬁﬁaa—ﬁ'ﬁm 122, Match List - I with List - IT.
= - TI List -1 List - 11
@ : @ (a) |Lenticels (1) |Phellogen
() |1 O (b} [Cork cambium |(ii) |Suberin deposition
(h) [=h1eh FHfaag (1) ﬂaﬁ_—l gy (¢) |Secondary cortex |(1i1) |Exchange of gases
© |fedms o (iid) ¥4 1 SR (d) |Cork (iv) |Phelloderm
- Choose the correct answer from the options given
(d) 1k (iv) [T 3R below.
= T3 T fomeni ° @ e S gt @ ®m © @
(@ b)) © @ QH @ @ a O
(n @ @ @ O @ G @ @ 3
2 v W @ @) @ @ O @G @
@ @ @O @@ @ @ @ @O a @

@ @ @ @) @ : . 1
123. DNA strands on a gel stained with ethidium

123. <@ E!T W, tfatesm smre | sfwifsm Sl bromide when viewed under UV radiation, appear
ool i e g9l fafer & srwmia S i § e .,
?)%'@f %ﬁ g? o (1) Darkred bands
1 55| ;
) (2)  Bright blue bands
E? et :ﬁFﬁ z (3)  Yellow bands
( 4§ A R T (4)  Brightorange bands
124, Trefafaa d @ st fawsm 1 e emewen §

124. Which of the following stages of meiosis involves

Wﬁ?& 1 FersTSi e % 2 division of centromere ?
() e 1l ()  Anaphasell
(2)  HEE - 11 (2)  TelophaseIl
(8)  HEEE - 1 () Metaphasel

(4)  THeETew - 11

125. SRl BRI JPHSI W1 ScAeH, TS W i iR
F, 3R F, aredi i f-TeiEa | | foew fe gro | 125, The production of gametes by the parents,

(4)  Metaphasell

T S Hhal & 7 formation of zygotes, the F; and F, plants, can be
(1) THE understood from a diagram called :
@ Ae (1) Punnett square
@ IR (2)  Netsquare
@) = (3)  Bullet square
126, THERor % wogeR A urey fafi vl @ stgeRw o € (4  Punchsquare

7 faf9= Yo Rl SL=FIST & i & faw &=

eI T STTERW H #| TH &9 F G FE 126, Plants follow different pathways in response to

environment or phases of life to form different

STl @ 2 kinds of structures. This ability is called :
E; wﬁ () Plasticity
(3) W (2) Maturity
4) T (3)  Elasticity
127, ST S ® e yer frsfaa fE=r s @) Flexbility
AT 2 ? 127. Amensalism can be represented as :
(1) SUdA(-);=aB(—) (1) Species A (=) ;Species B (-)
(2) SUAA(+); A B (0) (2)  Species A (+); Species B (0)
(3) SUAA(—);<dB (0) (3)  Species A (—); Species B(0)
(4 SGA(+); EB(+) (40  Species A (+); Species B(+)
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128,

129,

130.

131.

132,

geft - I | - 11 & |19 gafaa st
e - 1 el - 10
(a) [SiterEsa HeraA @) |JoreTRT
O IRIERESERIEEE] (i) [
() [AfE=n gagA (iii) [T
(d) |gemgae (iv) |feremy] g o<y
T T3 T Taewedl | 9 wE S g
@ ®) ©
(@ v © @
@ v @ @ @
@ ) @) G @
4 @ @ @
Thfd B oS gt % sresg, et s

el Sl 3 29T I9slemn & e wim = fafy =
Torerma faem B ?

(1) RIS

@) %

(3 wurE fausE
@ i

frafer d A e o i S @+ &9 o
e g g ?

ot it

(1) qiciFd

@ g
3 TEE
@ R

TeRTERTTAdT o S WIgH1 H YRS o ST h &
FEAAE?

(1) g Fich
2 =l

(3 R

@ o

| H €O, Feadero § vgern womd 3rg = 2

(1) HEiF v
(2)  RIRFEEEs o7
(3)  EEan o
@)  SESIAEEE 3T

32

128.

129,

130.

131.

132.

Hindi+English
Match List - I with List - I1.
List -1 List - 11
(a) | Protoplast fusion (1) |Totipotency
(b) |Plant tissue culture | (ii) [Pomato
(c) |Meristem culture (iii) | Somaclones
(d) |[Micropropagation (v) | Virus free plants

Choose the correct answer from the options given
below.

@ () (© @
@O a m O o
@ @) @ W @
@ @ @ W @
@ @ @O O @

Ingpite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1) Mutualism

(2)  Predation

(3) Resource partitioning
(4) Competitive release

Which of the following algae containg mannitol as
reserve food material ?

(1) Volvox

(2) Udothrix
(3)  Ectocarpus
)  Gracilaria

The site of perception of light in plants during
photoperiodism is :

()  Axillarybud
(2) Leaf

(3)  Shoot apex
4)  Stem

The first stable product of CO, fixation in sorghum
18 !

(1) Succinic acid

(2)  Phosphoglyceric acid
3) Pyruvicacid

(4) Oxaloacetic acid

sh
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183. =T - I 30 gt - 11 9 Yfom Fifsm 133. Match List - I with List - II.
T - 1 el - 11 List -1 List -1
e - . . |Primary constriction in
(a) [Tsreet @ (= Yot 2 (2)|Cristae @) chromosome
- - - (b) | Thylakoids i) Dlscjshaped gacs in
) |owiae | G et I9H | fe%h Golgi apparatus
3R w1 Afera ... |Infoldings in
- — (¢) [Centromere | @il | . .
() [uigafag | (i) [SEeRivreR § sfaeferd mitochondria
o — Flattened membranous
) |fawet (iv) ﬂﬁ | . (d) [ Cisternae (iv) |sacs in stroma of
I%EEHTJI ferai plastids
I fed T fawedl § § 9 39 g | Choose the correct answer from the options given
(@ (b)) (© below.
(D (i?i) (iv) (3 (i) @ ((b) @© @
@ @ G G O O G O @
@ v @) @ @ 2 @ Q@) v O
@ @ 4av G @ @G @ @ 3@ @
184. T fagra (Sga ) 1 i yee o 2 @ O G G G
C (b) © 134. Complete the flow chart on central dogma.
(a) _DNA —5 mRNA =, (d) C (b) ©
(1) (2)-HHTHRT,; (b)- ST, @LDNE == mRA. =)
(c)-FUTaRT; (d)-FEH (1) (a)-Replication; (b)-Transcription;
TR (b)-ELUT- (c)-Translation; (d)-Protein
@ {(:(E:i)) -Wagg ) @ ﬁ?ﬂ:; (2) (a)-Transduction; (b)-Translation;
) pAd ) (c)-Replication; (d)-Protein
() (a)-AITRART; (b)-STTeTEH; (3)  (a)-Replication; (b)-Transcription;
(c)-TTERAT; (d)-ﬁ'l'@l:l (¢)-Transduction; (d)-Protein
@  ()-FH; (b).‘gﬁ?fﬁlaq‘m; (4)  (a)-Translation; (b)-Replication;
(c)-3TTCTE; (d)-9Teha (¢)-Transeription; (d)-Transduction
. _ 135. Match List - I with List - I1.
185. Feir- 1 =1 FEIT - 11 o T2 gl i | —— e —
ist - ist -
Eﬁr_ I Eﬁr— g = (o | ctiesion ) MDI'_E attraction in
. 0 od 3Tl &lishd liquid phase ‘
(a) [HHsA s s Mutual attraction
e %ﬁ % g (b) | Adhesion (i) |among water
R ERBER] (ii) i aadu molecules
© |T= T (iii) |ga erewen # o = (c) |Surface tension |(111) EZZE; ombiin:Hotid
B S PN @ [ourarin g iecon tvard
TR T AT N T A S = Choose the correct answer from the options given
@ B © @ s 0 I
O G @ G @) a o\ gl AL
@ @ © G Gi) H ay @ v @
3 i WG it @ @ @ v )
@ @ q4v) @ G 2 ; :
@ G @ @ 0 g E],ﬂ) E%?T?') ??') gﬂ
v 111 i1 1
Rl -1??1?f‘cﬁvril eI : S l%”" R Section - B (Biology : Botany)

136. Treferiem Rl TAA T/ < ; 136. Which of the following statements is incorrect ?
() I A H PS TSR PS 11 SHI 8 €1 (1)  Granalamellae have both PS I and PS IL.
(2)  TERIT YRS BIERTHE | PS I 3R PS I M (2)  Cyclic photophosphorylation involves both

LG PSIand PSTI.
(3) ATPﬁi?lr\illeH+H+ AT SR TR SR W (3 Both ATP and NADPH+H* are
T 92 synthesized during non-cvelic
5P %ﬁ ﬁTFI B E | photophosphorylation.
4) e - 4 %ol PS 1 91 g IR NADP (4) Stroma lamellae have PS I only and lack
Trgarst =1 s1ume 2 € NADP reductase.
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137. fr=fafes O 9 w& 79 F1 AT

(1)

2)

(3)

4)

HaTT TRuTl it SRITSTERT Sil - STaRTgerd
FToam 909 & 9 = EqC R
Foyator st &

STl %l Wien aAlel - TSl Jgah
oo 75 =i si

BTel H 9 o RN

1 fog aamt §

T w1 TRA fiaa

EAIEEaT

Taafterastt ufeai o - AifiTh S
HegT HUE,

wit fafa aret w9

FifTEReT &

ey g €

188, fr=tafaa o o W& wem gia |

(1)

@)

(3)

(4)

T NG TR H He B9k, T mRNA T
EIRET RIS

TR STH-=oe Yrerfiane = fafyme wgm
il

FfUn 4 Afye TaFEE ZEWERE H hnRNA
% 3’ o 9§ Sirer 9w &

STt W STeET &1 Wikl o qATT
¥ fAU ST WIS, Rho & % @9
e 2 STl B

139. W= - I s geit - 11 o &y gAfera wifs)

ol - 1 gar - 11
(a) |S stereen @) ST = Tyeuor B
(b) |Gz 3TaTeq (i) (TSR oTereen
W favee &R
(c) [omia s/ | (i) |ST.UA. T, Wiepiaento &
YR gH & & ST
(d) [G1 STereen (v)|€1. 1., & Tfdepiderto
= fear T faeredl ¥ 9 9 W g
@ (b)) (© @@
B v @ G Gi)
2 @ Gy G @
@ @) @ @ @
4 (v @ @@y @

34

Hindi+English
137. Select the correct pair,

(1) Cellsof medullaryrays - Interfascicular
that form part of cambium
cambial ring

(2)  Loose parenchyma cells - Spongy
rupturing the epidermis parenchyma
and forming a lens-
shaped opening in hark

(3) Largecolorlessempty - Subsidiary cells
cells in the epidermis
of grass leaves

(4)  Indicotleaves, vascular - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells

138, Identify the correct statement.

(1) The coding strand in a transcription unit is
copied to an mRNA,

(2)  Split gene arrangement is characteristic of
prokaryotes,

(3) Incapping, methyl guanosine triphosphate
is added to the 3’ end of hnENA.

(4) RNA polymerase binds with Rho factor to
terminate the process of transcription in
bacteria.

139. Match List -1 with List - I1.

List -1 List - 11
.. |Proteins are
(2} | phase @) synthesized
(b) | G2 phase (11) | Inactive phase

Interval between
(c) |Quiescent stage |(iil) |mitosis and initiation
of DINA replication

(d) |G1 phase (iv) [ DNA replication

Choose the correct answer from the options given
below.

(@ (b) () (d)
O G @ @ G
@ @ an @ @
@ @ @ O @)
@ @ @ @ @
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140. @Y - [ T @A - I1 T gHfaa ST

Wy -1 Wy - 11
(a) | Fed#ieg ORICRIEHETY
o lwifmr |6 E'F i il T 31 egTee
© |radges | Gib "f “E'?E M2 H
| gHEEtE ARdeH #
@ |FEgEFR | Gv) RV
= T3 T fomeni ° @ e S g
@ b © @@
L @ O Gv )
@ v ) @ @
@ @ v O (111)
@ @ @ Q@ v
141, @Y - [ I WY - 11 9 gafaa Fifea |
WY -1 WY - 11
(@) %S KCrizrAsiG @ S
) #GK5CAsGs @ Tt
() $§m3+ sl (i) e
(@) 8K, ,CA,_,Go Gvy SRR
= T3 T fomeni o @ e S g
@ b © @@
L @ @y @) @)
2 v @ O (111)
(3) (@ av @ @
@ @ @ Q@ v
142, it - I 0 geit - 11 3 919 gAfer i |
el - 1 et - 11
(a) |9 () |[C=C fgaru
(b) |SHHgw T R | (i) [WERSEUER a4
© [Fell® s | (i) [vergpraEies o
(d) i Esuss (iv) [UerRE o=y
= T3 T fomeni o @ e S g
@ b © @
L @ @ v (o)
@ v ) @ (11)
3 v @© (@
@ @ @ @ @

35

01
140, Match Column - I with Column - I1.
Colunmmn -1 Colummn -1IT
(a) | Nitrocoecus | (1) |Denitrification
oy | Bhiatam. |y [Sonpeniondt |
ammonia to nitrite
(©)| Thiobacilius | (i) Cont»rersmn of nitrite
to mitrate
Conversion of
(d) | Nitrobacter | (iv)|atmospheric nitrogen
to ammonia
Choose the correct answer from options given
helow.
@ b @ @
1) @ @ ) @
@ @) @ @ @
@ @ an @©
@ @ @ @ Qv

141.

142,

Match Column - I with Column - 11.

Column -1

Column -IT

(a) %§ K5Ciior@Age1Gy () Brassicaceae

(b) Eﬁé‘K(mC@Ang

T
(c) 'EBQSP a+323+30

@) ®CK,, ,CA;_ G,

Select the correct answer from the options given

(1) Liliaceae
(iii) Fabaceae

(1v) Solanaceae

below.
(@ (b @© (@@
1 @ @ @
@ @ w @
@ @ v @ O
@ @© @ @ )
Match List - I with List - I1.
List - I List - II
(a) | Protein 1) |C=C double bonds
) E;Ss:éfgted i) | PHep RN e s
(¢) |Nuecleie acid (1i1) | Glycosidic bonds
(d) | Polysaccharide | (iv)|Peptide bonds
Choose the correct answer from the options given
below.
@ (k) @©
H W @ G @
@ @) @ @ @
@ @ @ @ @
@ @© @ @) W

T
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143.

144,

145.

146.

147,

fefafam i AT Toa &2

1) T w1 Gy Gfimy V % grR g B |

2) WW% SR, Yorem H WEF Yavmd Sea=
|

AT YorET o S, SRS i yfie sifaw

ST ae i &

.ELHL (zeweTT uftags qwdn) #H,

NADH + H+ & W& 37 § A9, % 3 &7

T4 ¥ 3R U FADH, € ATP 1 &7 ¥ |

SLUAT, HATESTd H LU, oFA ° e faftre
W § el =t meem = 9wt §0 = fafrs
T =l 1 F3 ST © 7

(1) T FRTEEEs

) FEEIE ST,

(8)  STIE LTAE

@ TR IET
fefafar d A FR T FA WE & ?

(V) St St Shfa weul ) s 3§ <= gt
el ST 2 |

FS Sl AHSATT SIS o STESTE, IR
F& A arel faferss wifEmeT O fefega =
Hahd ¥

T gl F HA=H T HEF WA Fh
S

3T TR W S el TTHHI o od Siaea &
HATH T IR TA-19 FHal 5l & |

FITRIST o T T 3 deard U 9 396 LT
I HHLO T SR ek a8 A SARTR TIHT FL
THE] U T HE oA L gl St st
T T AT STSTohel |9d & Sifen ¢

() SEET S ®REAiES hed W T8 Tl
Fifer W | g0 IS TN T8 T |
Seafiatda <ie wemiFE fheq 92 7& At
Hifeh Urel T ST I o1 & |

Ieqf@fda st HeRnEs fHer 1T o1 9
T I %)

Ieuftafda SiA wrRuF ey W ot sit e
w9 H T

=TS pBR322 H S amp® ¥ 3T Pst] Sfeeiar
Tgn § S iy ufady gwie &1 3k @
TIEH & S-SR HEe S o [y, T SiH
o fafim fem s & iR grahe wifsts =
g Fich =R 1 faftma e s & 9

(1) 99 Y HIE § 9T 8 SR

@) gﬁﬁw%’wqﬁmwﬁw
%Wa%@waﬁwmﬁﬁ?wﬁﬂuﬁw
FYGRE HISERIe § T JaUs &1 a9
FTE I F | et | o M i b | e e e |

(3)
(@)

)

(3)

4)

(2)
3)
)

(3)
4)

36
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147.
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Which of the following statements is incorrect ?

(1)  ATP is synthesized through complex V.

(2) Oxidation-reduction reactions produce
proton gradient in regpiration.

(3)  During aerobic respiration, role of oxygen is
limited to the terminal stage.

(4) In ETC (Electron Transport Chain), one

molecule of NADH+H™* gives rise to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

DNA fingerprinting involves identifying differences
in some gpecific regions in DNA sequence, called
as :

(1) Single nucleotides
(2)  Polymorphic DNA
(3)  Satellite DNA

(4)  Repetitive DNA

Which of the following statements is correct 7

(1)  Organisms that depend on living plants are
called saprophytes.

(2)  Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath
cells.

(3)  Fusion of two cells is called Karvogamy.

(4)  Fusion of protoplasms between two motile

on non-motile gametesis called plasmogamy.

Now a days it is possible to detect the mutated
gene causing cancer by allowing radioactive probe
to hybridise its complimentary DNA in a clone of
cells, followed by its detection using
autoradiography because :

(1) mutated gene does not appear on a
photographic film as the probe has no
complimentarity with it.

mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

mutated gene partially appears on a
photographic film.

mutated gene completely and clearly
appears on a photographic film.

)

(3)
(4)

Plasmid pBR322 has Pstl restriction enzyme site
within gene amp® that confers ampicillin
resistance. If this enzyme is used for inserting a
gene for B-galactoside production and the
recombinant plasmid is inserted in an E.colt strain

(1)  itwill lead to lysis of host cell.

(2) it will be able to produce a novel protein with
dual ability,

(3) it will not be able to confer ampicillin
resistance to the host cell.

4)  the transformed cells will have the ability

to resist ampicillin as well as produce
B-galactoside.
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148.

149,

150.

151.

152,

frAtafas o 9 T Fai & 9 9 576 T2 959 o
TRATEH YT &t SITSSTH, STk T 2 & 918 TaH] ae
wArg?

(1)  TOH!, WA
@ Ui, AR
(8) TG, sl

@ o, e

THAEHEH Sial H SATeET ® R § AR,
UiferAYsT- 111 1 AT R 8 ?

()  mRNA % qeedl =i STeifiaa a8

2 ¥9e snRNAs % SANGd Fa1 §

3 rRNA (288, 18S & 5.88) = STRifEd &<l
g

4  tRNA, 5s rRNA 3R snRNA % ST iRad Sl

3

=] fG THR
N, =N et H, e fQ frefia axar 82

(1)  TEHIde T = SR
(2)  SAHfd TR Rl STTHR
(8)  E%H TTEIU R STUR
(@) <] TTEI0Teh Sl STTH
AU - A (Siieier™ : wrfvrferr )
=1 el Rl 9=
(@  HeRTEs i H arE s ¥
b) TEEAISH ERE U TR wig B £ |
(©) | 7 e o W S O SR R
) mﬂm shehel IfgehTy ar=r H HErm
I
©) Sl Gogd o TagrsH o Tafimem 2t 81

= faedl 9 sfera 3o = === =10

1) (), ()T () Th |

@ (), (T () TAE

@ (@, @ e T %f|

@ (), (b)) TIEI

et - 1 0 e - 11 o firem 0

e - 1 e - 10

(a) [faEgTETn @) [Her=e

(b) | ATt (i) [SHrRR

(c) [FeFt iRt (ii) [¥AfersT

(d) | <31 wiferet (iv) [T

1= forel o 9 sfaa s =1 =39 4
@ M) ©

(L @G v @ @

2 G @O @ )

(3 G @) @ @

@ G G @ @)
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In some members of which of the following pairs
of families, pollen grains retain their viability for
months after release ?

(1) Poaceae ; Solanaceae

(2)  Rosaceae ; Leguminosae
(3)  Poaceae ; Rosaceae

(4)  Poaceae ; Leguminosae

What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?

(1)  Transcribes precursor of mRNA

(2)  Transcribes only snRNAs

(3) Transcribes rRINAs (288, 185 and 5.85)
(4)  Transcribes tRNA, bsrRNA and snENA

In the exponential growth equation
N¢=N_e't, ¢ represents :

(1)  The base of natural logarithms

(2)  The base of geometric logarithms
(3)  The base of number logarithms

(4)  The base of exponential logarithms

Section - A (Biology : Zoology)

Read the following statements.

(a) Metagenesisis observed in Helminths.

()  Echinoderms are triploblastic and coelomate
animals,

(¢) Round worms have organ-syvstem level of
body organization.

(d) Comb plates present in ctenophores help in
digestion.

(e) Water vascular system is characteristic of
Echinoderms.

Choose the correct answer from the options given
below.
(1)
@)
@)
(4)

(a), (d) and (e) are correct
(b), (¢} and (e) are correct
(e), (d) and (e) are correct
(a), (b) and (c) are correct

Match List - I with List - I1.
List -1

Metamerism

List - 11
Coelenterata

Ctenophora
Annelida
Porifera

(1)
(11)
(c) [Comb plates (111)
(d) |Cnidoblasts (1v)

Choose the correct answer from the options given
below.

(a)
(b)

Canal gystem

(@ (b) () (d)
O ey @ @ o
@ @ O w @
@ G @ O
@ @ @ O
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153. 7177 weri | i famelt Ueit 1 wafs =1 sfsa 9 | 158, Which of the following statements wrongly

A g ? represents the nature of smooth muscle ?

(1) SHISTERIST o e W= siafae fewr g e (1) Communication among the cells is
| performed by intercalated discs

@ AT arfge w1 fufa § sufteq @6 B (2)  These muscles are present in the wall of
Ufertt & wrfat blood vessels

g ?ﬁﬁ@;r ﬁﬁﬁg?ﬁﬁ gl?ﬁ ! (3)  These muscle have no striations

(4)  They are involuntary muscles

154, TRHSE Fal TG0a ST e ?

1564. The centriole undergoes duplication during :

(1)  HEEE
(1)  Metaphase

@) GoHEET (2)  Gyphase

S bl (3)  S-phase

(4) e (4)  Prophase

155. IG5 Hq‘f:‘e‘ S TR sl =47 = | 155. With regard to insulin choose correct options.

() W Sl # Wi-Uee T et | ‘ (a)  C-peptide is not presentin mature insulin,

b R B T T Gl § Sqned sgeiT ()  The insulin produced by rDNA technology
w-Uere 9 B has C-peptide.

(c) W—E@ﬁﬂ H H-UeEs g g (¢)  The pro-insulin has C-peptide.

(d) Ewtf F T-UURE UG 9-UCRT SRUCHRS (d) A-peptide and B-peptide of insulin are
HHi gRT IR @ KR interconnected by disulphide bridges.

= feu T fomedl H 9 fad sv =1 997 =) Choose the correct answer from the options given

(1) FE (), (0) T (&) below,

@) el () T (d) (1) (a), (c)and (d) only

; (2 (a) and (d) only
(3) 9 (b) WS (d) (3)  (b)and (d) only

@ HEd (b) T () Lol
156. @—Iﬂ@_II#mel (490  (b)and(c)only

156. Match List -1 with List - I1.

el - 1 el - 10 List - I List - II
. [T ten # e % &
e . ntry of sperm through
@ W T il e % | (a)|Vaults ® Cervix is blocked
HEEE L () [3HaTEh EAk-Tak | (b) |IUDs (i1) |Removal of Vas deferens
Jshalg<h . |rufere o ‘{Iﬁw“fﬂﬁ i ... |Phagocytosis of sperms
© Foed ) '*T&TGFITE%IET (), (Nasectomy |Gy within the Uterus
@ |Aferm iy (iv) %mmf%:ﬁ BIREIED (d) |Tubectomy [(iv) [Removal of fallopian tube
= S — T*a | E;iggﬁe the correct answer from the options given
@ () © @ @ () © (@
Q) G v G G O @ v @) @
2 @) @O @ @) @ @y @ @ @
@ G G @ G 3 G G @ b
@ @ () G ) @ @ @@ @ v
157. =1 9 WiEM 99w & faw %/ @ RNA 3mEyas | 157. Which of the following RNAs is not required for
Tél 7 the synthesis of protein ?
(1) rRNA (1) rRNA
(2)  siRNA (2) siRNA
(3) mRNA (3) mRNA
(4) tRNA (4 tRNA
158. aﬂﬁﬁ‘ﬂ"q %l T | 158. Identify the incorrect pair.
(1) s . FMEHERE A ()  Lectins -  Concanavalin A
(2) g - g (2)  Drugs - Ricin
(3) TUohaised - FEMA (3) Alkaloids - Codeine
@ fam ; LEIIT] (4  Toxin . Abrin

collegedunia:s

India’s largest Student Review Platform

sh

T



Hindi+English

159.

160.

161.

162,

163.

164.

165.

166.

e fafyre wg=m sgw e S ¢ BRI
Y v U i fafyre T o weq & faw gg=mn s
T, 1 FEAET & ?

)  YeliEifes gfarsiere emFa
(2  Hg (T) Y= IFA
(3) AT YRR 3ThH

(4  SRRISTRT ST

1 1 o ST & SRRy 7 ST e & ?
(1) Taerfam =1 9en § guR 30

@ G-l O @i $ A H GER S
@) W I HE H ER wE

@ N R g § UR

Sieiepred! Tamfaea feremm st diem Ui |y =0 yenfe
F € e f99eh FR0 Sk U9 H FESR uh

TETET QI &, FEEm 8

(O wEwfEr iy

2 T3

(3)  dftreme

@  uefiE gsarm

A eA O Fa H ST g ?
(1) Taerg

(2) FEEl

@ T

4 feg

Fitaprstt (foaeror wo@) | st (0,) & FEE
gm‘amg (CO,) 1 STf¥eF =& (mm He ) S

() pOy=95TApCO,=40

@ pOy=159TApCO,=0.3

@ pOy=104TEpCO,=40

@ pO,=40TaApCO,=45

i it 3T % ST | S Yass =1 Atafma & SE
7fg oY ¥ =9 99EE 991 T8 W ad e o

T =t SR 1 BE W R0 TR Fafer grm ?
OGS EET

(2) IR

(3) it

(4 TER

S W U R wEigAeH @ wEfe 4 9gad
& T STer 22

O TfiEwE
2) O
(3 aifEa

@

afa: fafeoram o3 § o © Fiftrsm it 99§72
1) TSt Gy, YR, TFEEH T8 TaTamE
@)  Ties Wiy, siagsdl i, gahioe &

I

(3) iRl SHIfeTaHI, SFeRiUH, TEEH Ud oo

@) SAagedl suicen, Ties 9fHy, T=Ae™ waE
T
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A specific recognition sequence identified by
endonucleases to make cuts at specific positions
within the DNA is :

(1)  Palindromic Nucleotide sequences

(2)  Poly(A) tail sequences

(3)  Degenerate primer sequence

(4)  Okazakisequences

Which of the following is not an objective of
Biofortification in crops ?

(1)  Improve vitamin content

(2)  Improve micronutrient and mineral content
(3)  Improve protein content

(4)  Improve resistance to diseases

Chronic auto immune disorder affecting neuro
muscular junction leading to fatigue, weakening
and paralysis of skeletal muscle is called as ;

(1) Myasthenia gravis

@  Gout

(3)  Arthritis

(4)  Muscular dystrophy

Which one of the following belongs to the family
Muscidae ?

(1)  Cockroach

(2) Housefly

3) Firefly

(4)  Grasshopper

The partial pressures (in mm Hg) of oxygen (Oy)

and carbon dioxide (CO;) at alveoli (the site of

diffusion) are :

1)  pOy=95and pCO,=40

2 p0y=159andpC0O,=0.3

@) p0O,=104 and pCO,=40

4 pOy,=40and pCO,=45

During the process of gene amplification using

PCR, if very high temperature 1s not maintained

in the beginning, then which of the following steps

of PCR will be affected first ?

(1) Denaturation

(2) Ligation

(3) Annealing

(4)  Extension

Which enzyme is responsible for the conversion of

inactive fibrinogens to fibrins ?

(1)  Epinephrine

(2)  Thrombokinase

(3) Thrombin

(4) Renin

The organelles that are included in the

endomembrane system are :

(1)  Golgi complex, Mitochondria, Ribosomes and
Lysosomes

(2) Golgi complex, Endoplasmic reticulum,
Mitochondria and Lysosomes

(3) Endoplasmic reticulum, Mitochondria,
Ribosomes and Lysosomes

(4)  Endoplasmic reticulum, Golgi complex,
Lysosomes and Vacuoles
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167.

168,

169.

170,

171,

172,

173.

11 % BF T A 9% S [ § 2

1) Cu?

(2) TS 875

3) CuT

() LNG 20

HeRRE Tefiea w1 Hey ¥

(1) “R™EH

2) FEAY

(3) STREIWR

x aa;fﬁﬁwsﬁa@éﬁnﬁfrm T

EQREIEII T IGLEERET!

ufifeerfertl = == & |

1) T pO,y, T pCO,, FAH+, 3T0aTHa 3=

qIaH

I p0,, FETpCO,, st H |, sTuamsd 3=4

A9

¥4 p0,, T pCO,, T H+, 3Tuarha 9

RIECE]

@ T p0,, TpCO,, SR H+, 3105 3=
I

Werst 31 fored g HEIR@ BT 2

(2) Al o 3TN |

) Horiha fea F T wem U

(©  CshiHd AR Yor H

@ I

) derfa R

fr= foredl O 98 SR 999 FU

() ae (b) T (c)

@) FE@W ()

(3)  F (@), ()T ()

@ A (b), (c) W (d)

HEHFE! Wi Yoo Ve § 8 UgA (2n) B 1

Ff G TawTF il Sfaqaedn 1 G WEwn § TR

W1 WA 8 T 9 S—HToR 3 A% VR ot S -l

Bt ?

(2)
(3)

(L 4
@) 82
3 8
4 16

7fg TF S T T 9] § S W O 30% § 9
ATHIA, TR Ue AR fare wike g ?

1 T:30:G:20;C:20

2) T:20:G:25:C:25

(31 2065300 20

(4) T:20:G:20;C: 30

frer § e S | ot srfeert @rectt wd aifae
Bt 2

N e

2  SiRfEiEg

(3)  fFemmT

@) BHidwrgerg

40
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Which one of the following is an example of
Hormone releasing IUD ?

1 Cu7

(2)  Multiload 375

(3) CuT

4 LNG20

Succus entericus is referred to as :
(1) Gastricjuice

(2) Chyme

(3) Pancreaticjuice

(4)  Intestinal juice

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) High pO,, high pCO,, less H*, higher
temperature

2 Low pO,, low pCO,, more HT, higher
temperature

(3) High pO,, low pCO,, less H, lower
temperature

@  Low pO,, high pCO,, more HT, higher
temperature

Veneral diseases can gpread through ;

(a)  Using sterile needles

M  Transfusion of blood from infected person

(¢) Infected mother to foetus

d) Kissing

() Inheritance

Choose the correct answer from the options given
below,

(1)  (b)and (c) only
(2) (a)and (c)only
(3)  (a), (b)and (c) only
4 (b)), (c)and {(d) only

The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G, phase is 8, what would be the
number of chromosomes after S phase ?

1 4

2 32
3 8
@ 16

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and

Cytosine in it ?

() T:30;G:20;C:20
2y Tz20:6:26;0:2b
3 T:20;G:30;C:20
4y T:20:;G:20;C:30

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1) Macropus

(2) Ornithorhynchus
(3)  Neophron

(4)  Hemidactvius
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174, STEHFEn! ! TIoEH Giehal § e O TSI TR,
S ve WA w AT FRar g ?
(1) IO S
@ SIS
(3) ST T R E 0T U i
@ TR R R T e
175. it - I &1 gt - 11 % 9y foerm &1 |
gl - 1 el - 11
(a) | Predforar () [garg
(b) | Fergerar (i) [qerTIeT IE AEE
(c) | TFgrgerrarar  |Gil) [Sitfaa <fama
(d) | Fimarer (iv) |Sigerpiy
=1 Taeredt 9 Sfora S92 &1 =97 30|
@ (b @© @@
(L @ @ @) @
@ @ v @) @
@ @ @ @ v
@ v @© () @
176, ST qafawen =t HE O geren #1 fafire dam
FIZUSHT T SN & 7
(1)  ORIfOERE
(2) g
(3 W9
@ FIHUE
177, Sie9 Tt (g ol Aiek AT & for S9an =61 <
2?7
(1)  EE
@  #vHed
(8 ot Tm
@) gHAIHE
178. et sreRiIfa el Sufeera St &7
()  Se-ufae wfy
@) TR T T |y
3 fFmEs
@) A SR afe-l Ud Tguit |y
179. Eﬁﬂﬁ?%ﬁﬁ?@ﬁﬂ:ﬁgmm#m
Tarrrrast ¥ 3 Hersor | 3ea= =l wiaem
TR 30T 2
1 25%
2  100%
3  50%
@ 5%
180. ‘@’maug#wﬁaﬁfaﬁﬂa‘u@ﬁ%%%?
() RBC ™ UZ-A Ud U2-B UfeRefl 1 sufrfa &
TR
@) e H - A TE UA-B ufoedt 1 sratierfa
& TR
(3) RBC il Wag WufdsH A T B <kt sTuftafd
& TR
@) e § gfaem A Td B @ sTuitefa & R
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Which is the “Only enzyme” that has “Capability”
to catalyse Initiation, Elongation and Termination
in the process of transcription in prokaryotes ?
(1) DNA Ligase

(2) DNase

(3) DNAdependent DNA polymerase

(4)  DNA dependent RNA polymerase

Match the following :
List - I
Physalia

List - II
Pearl ovster

(a)
(b)

(1)
(1)
(c) |Ancylostoma | (iii)
()| Pinctada (1v) | Hookworm

Choose the correct answer from the options given
below,

Limulus Portuguese Man of War

Living fossil

(@ (b)) (@ ()
O @ ) ) @
@ @ @) @ @
@ @ @ @O @
@ @ O @ @

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive

feature ?

(1)  Diakinesis

(2) Pachytene

(3) Leptotene

(4)  Zygotene

Dobson units are used to measure thickness of :
(1) Ozone

(2)  Troposphere

3) CFCs

(4) Stratosphere

Sphincter of oddiis present at ;

(1)  Gastro-cesophageal junction

(2)  Junction of jejunum and duodenum

(3)  Tleo-caecal junction

(4)  Junction of hepato-pancreatic duct and

duodenum

In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be diseased ?

D) 25%
@)  100%
(3)  50%
@  75%

Persong with ‘AB’ blood group are called as
“Universal recipients”. Thisis due to:

(1)  Presence of antibodies, anti-A and anti-B,
on RBCs

(2)  Absence of antibodies, anti-A and anti-B, in
plasma

(3)  Absence of antigens A and B on the surface
of RBCs

(4)  Absence of antigens A and B in plasma
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181.

182.

183.

184,

185,

foerg % wey # s o fafrean swfad §2

(1) gmff 7-9 T 314 (IR S S sH
|

@ < e W <ud e H e OH U e

(3) U UF UvHIT % G e W SSd S
1 T 9T gl 2 |

@ Wwwmmwmﬁéﬁﬁ
|

TReEfe TEiA S R A . % Tt =1 e =
T U SARA FH FETE ?

(1) I Bt Y BT
(2)  TIFF B TR I
(3)  STEIE Tl oI
(9 e ufeerreEiaa w5 HiEn
gt - I 61 |= - 11§19 THer 1|
Gl - 1 gl - 11

@) | Yegefrerg T O |ushifes s
(b) | griziEget ofaerd (1) S s
©) | gergtfean sgzrafaey ) (fafzg s
(d) | Fzidfaerg (V) |gfefmr e
= Tomedi @ Sfaa SR &1 99F =

(@ b) © @
L @ @ @ av
@ @ @ @ )
@ @ @ @) @
@ ® @ @ av

T & yemT] s % Il e sufter g ¥ 2

(1) i T
@ i Yeyfee
@) HR TS
@  Hiaw e

RS U7 3 YYET SUER & T 39 IRYe M
e {1 T famm 61 g aga Heoy €1 fr= A
F ° e fem aee SRiYE 9g=m & fog
g ST B ?

(1) ELISAdHI®

(2) T THEAHR

(8) %A ST GhIH
1) T ST aFAE
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Which of the following characteristics is incorrect

with respect to cockroach ?

(1) Infemales, 7th-9th gsterna together form a
genital pouch.

(2)  10th abdominal segment in both sexes, bears
a pair of anal cerci.

(3) A ring of gastric caeca 1s present at the
junction of midgut and hind gut.

(4)  Hypopharynx lies within the cavity enclosed

by the mouth parts.

Erythropoietin hormone which stimulates R.B.C.
formation is produced by :

(1)
)
3)
(4)

Match List - I with List - I1.

The cells of bone marrow
Juxtaglomerular cells of the kidney
Alpha cells of pancreas

The cells of rostral adenohypophysis

List -1
Aspergilius niger

List - II
Acetic Acid
Lactic Acid
Citric Acid
Butyric Acid

(a)
(h)

(1)
(1)
(c) (111)
(d) ()

Choose the correct answer from the options given
below.

Acetobacter aceti

Clostridium butylicum
Lactobactlius

(@ () @© ()
@O @ @ @O )
@ @ @ @O da
G @ O m W
@ @ @ @ Q@)

Receptors for sperm binding in mammals are
presenton:

(1)  Perivitelline space
(2)  Zonapelluada

(3) Coronaradiata

(4)  Vitelline membrane

For effective treatment of the disease, early
diagnosis and understanding its pathophysiology
is very important. Which of the following
molecular diagnostic techniques is very useful for
early detection ?

(1)  ELISA Technique

(2)  Hybridization Technique

(8)  Western Blotting Technique
(4)  Southern Blotting Technique
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186.

187,

188,

189,

190,

AU - B ( Siiaierse ; wriurferr )

WATL: TR AUG it wa Ha-tentE
T FZ TG FLA G |
HUAI:  AAA’ TF ‘AAG THI Whe THIAT o

AR T F2 @A H & |
S FUE % oMER R = faeui | T s
=T F |

1) T I T T e 1 T ©
2 YT o € @ e 11 W )
B TF RITI S YT I F9E 2
@) SF ®YT 1 UE HE 11 7Ted 2
Tl - 1T - 11 oy fam &4
el - 1 el - 11

(a) [ EHYEll @ [suifey gaa g
(b) [=Rred () [=udt sifey
(c) [T (i) [¥efra <irs
(d) [T 3T (iv) |Freemeer =t afey
= faedi ° o Soa s = 993 =4

@ (b © @
O v G G 6
@ v @ @ @
@ O @ @ G
@ @ @ @) @

i e B D e i e [ B o (o M R e B el o 7
(MOET) =1 =R & & ?

(1)  TE R FHEW dEEE gR Fefed frar s g

2 Fmf=m i 8-32 if¥rew sreren § Hiafgew
Al H weriaia Y v € |

(3) TIF H I=9 FereusH & U LH S T
e & oo s E

(@)  ME TH TG T T 6-8 37 IU= Fl B

e % 3T i sraty H s RefaeT gEE w
wfed FaT e ?

1 qu

(2) Y™

(3) Ul Gk

@ dafie

iR S A SR G s g &0

(1) @ﬁ%@; T asfam ud onfsifa tHim of et weX

|

@ 152 1 uvd yEen § v S B B

3) ?@ﬂ@%ﬂ@msaﬂeﬁaﬁwmm
|

@ o= = pH ffaw ereim 3t &1
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Section - B (Biology : Zoology)

Statement ] :

The codon ‘AUG codes for methionine and
phenylalanine.

Statement II :

‘AAA’ and ‘AAG both codons code for the amino
acid lysine,

In the light of the above statements, choose the
correct answer from the options given below.

(1) Statement I is correct but Statement I1
is false

(2) Statement I 1is incorrect but
Statement IT is true

(3) Both Statement I and Statement II are
true

(4)  Both Statement I and Statement II are
false

Match List - I with List - I1.

List -1 List - 1I
(a)|Scapula (1) |Cartilaginous joints
(b) |Cranium (i1) |Flat bone
(¢} |Sternum (ii1) | Fibrous joints
(d) [Vertebral column |(iv) |Triangular flat bone

Choose the correct answer from the options given
below.

(@ (b) () )
@ ) @ @ O
@ @) o @ o
@ @ @ @ @)
@ @ @ G O

Which of the following i1s not a step in Multiple
Ovulation Embryo Transfer Technology
(MOET) ?

(1)  Cow is fertilized by artificial insemination

(2)  Fertilized eggs are transferred to surrogate
mothers at 8-32 cell stage

(3) Cow is administered hormone having LH
like activity for super ovulation

(4) Cow yields about 6-8 eggs at a time

Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?

(1)  Foetus

(2)  Uterus

(3)  Graafian follicle
(4)  Corpus luteum

Which one of the following statements about
Histones 1s wrong ?

(1) Histones are rich in amino acids - Lysine
and Arginine.

(2)  Histones carry positive charge 1n the side
chain.

(3)  Histones are organized to form a unit of
8 molecules.

(4)  The pH of histones ig glightly acidic.
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191.

192,

194.

FTereRT e i ggeniu s veref @ waw 9 9ret
Trerer & Tt € ud ST wal sroedi 3 qda s
Y TR FETsi % Hed Heaor wiihd w §

(1)  3HHS: S 6y Ud §6 |y
(2) UL IS WY ue aue w6y
(8) SRS ATl |y uF TS Gy
@) HHY: I8 Ui Td STaTel §iY

fefre & defaa wem = faw 7w )

@ U fafre S S=a e ey 36 § 5%
STHJT AT 37 Fad § |

b fafr weRfEte g

© oEeESiE i e €1

@) HIcHfew A H FHTEfoda w6 gied
20 FTET F TAN B ¥

o) WfrSitrer o7 # 16 HTe WA B )

Fre1 forredl & Sfora SO 1 =@ &30

() Fa (b) T (c)

@ FE )T ()

(3 FAA (a) T (b)

@ T (o) W (d)

193, Gt - [ 1 G=it - 11 3 w1y fierm & |
Tl - 1 =it - 11

@) [wrzefafag |0 | @afeeg Frgae

® |onfmm |G | zmmrmser

©) (=it |G | gy Swroerd

() [frrerd W) | gzemfiar feweifafesr

Tt Taeredt 9 Sfora SoT =1 =9 =30
@ b © @@

O 6 @ G G

2 @ @y @ G

@ v @ G G

4@ @ a @O @

Uit Wepem B A H A e E 2

@ B &= faew & S

() A b Y SR

© TS H e w9 8 W Y

d) TOETET ATP i SeTI=iad # ADP U4 Py
=T T T8

@ Ul § Gafvd Z-T0 3 W W6 Gig

61
=1 el © O S FT I9T F |

(1) wEA (b), (©), (), (&)
@  FEE (b), (), (o), (@)
3 WA (2), (©), (), (&)
@ % (a), (b), (), ()
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193,

194,
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Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules,

(1)  Adhering junctions and Tight junctions,
respectively.

(2)  Adhering junctions and Gap junctions,
respectively.

(3) Gap junctions and Adhering junctions,
respectively.

(4) Tight junctions and Gap junctions,
respectively.

Following are the statements with reference to

lipids’,

(a)  Lipids having only single bonds are called

unsaturated fatty acids.

()  Lecithin is a phospholipid.

(¢  Trihydroxy propane is glycerol,

(d) Palmitic acid has 20 carbon atoms including
carboxyl carbon.

(&)  Arachidonic acid has 16 carbon atoms,

Choose the correct answer from the options given
below,
(1)
(2)

(b) and (c) only
(b} and (e) only

3) (a)and (b)only
4  (¢)and (d)only

Match List - I with List - I1,
List -1

List - II

Haemophilus
influenzae

)
(ii)
() sy
(d) (iv)

Choose the correct answer from the options given

Filariasis

(a)
(b)

Amoebiasis
Pneumonia

Trichophyton

Wuchereria bancrofti

Ringworm Entamoeba histolytica

helow.

(@ (1) ()
O @ @
@ @ @ @
@ @) @ )
@ @ @ @

(d)
(i)
(iv)
(1)
(i)

During muscular contraction which of the

following events occur ?

Myosine hydrolyzes ATP, releasing the ADP

Z-lines attached to actins are pulled inwards

(@) ‘H zone disappears
(b ‘A’ band widens
(©0 T band reduces in width
(d)
and Pi
@)
Choose the correct answer from the options given
below.
(1) (), (0, (d), (e) only
2 (b)), (d), (e), (a)only
(3  (a), (0, (d), (e) only
@)  (a), (b), (), (d) only
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195. AT (A): 9 T Afdd I=0 @71 W A & a1 | 195, Assertion (A) :

=g Ul Eﬁ'ﬂﬁ & A 9 M ©H o A person goes to high altitude and experiences
FfcTE & =T FI USHA Tl HeqH ‘altifude sickness’ with symptoms like breathing
T L difficulty and heart palpitations.
AT (R) : 3=9 Q1 R 1 aHEea <@ & R Reason (R) :
IR <R T SIS &l THel 9Tt | Due to low atmospheric pressure at high altitude,
Tﬂ'ﬁﬂﬂ For T T e e § O wE SR A the body does not get sufficient oxygen.
T FU In the light of the above statements, choose the

correct answer from the options given below.

1) (A) ¥4 T Al (R) 376 2 (1)  (A)is true but (R) is false

@  (A) IHS & AFA (R) T 2 @  (A) is false but (R) is true

@ TA (A) TE (R) TF 8 T (R), (A) =i 3w (83)  Both (A) and (R) are true and (R) is the
AT 2 | correct explanation of (A)

(4) il (A) T (R) T F wifep (R), (A) F (1)  Both (A) and (R) are true but (R) 12 not the
<fe = T8 correct explanation of (A)

196. -1 - 11 & 9y T =40 |
T 196. Match List - I with List - IT.

e - 1 el - 10 | List - 1 List - 11
HICE NIRRT )| Selection of resistant
ATt Tt () |3 oty swm | ' Adaptive .. |varieties due to excessive
@ (1) afist Frei T == ' @) radiation @) use of herbicides and
o = g~ pesticides
() |sAfrRt faem | di £ LEE) Convergent | ... [Bones of forelimbs in Man
W w1 e (b) evolution ) and Whale
(c) |1t famre i) |Toaeft ue usft < 4 © Divergent i Wings of Butterfly and
TS AT ¢ evolution - Bird
@ |3 o 1 (iv) [Sifel =t fif= Evolution by
ALl (d) |anthropo- (iv) |Darwin Finches
T faredl @ Sfara 0 &1 =99 &1 sl Gt
Choose the correct answer from the options given
@ G © @ pae
O @ O v ) @ b @© @
2 @© ) @) @ @@ @ v i)
@ v @ W@ @ @ @ @) @) a@)
@ @@ @ @ @ @) @ @ O
| - N @ @ @ 6 W
197, LT o me EEF? AR 197. Following are the statements about prostomium
(3.) %E@‘ Eﬁf g bl hiY FHhidl %' Gfearthwgrm+
b TS RFE G RR I Wiem § 188 il § foas (@) It serves as a covering for mouth.
pERUReCT il (M It helpsto open cracks in the soil into which

1t can crawl.

©  I%UF €IS GE R

@ 7% IR uem T ¥ (©  Itisone of the sensory structures.

{d) Itisthe first body segment.

e ferehedl & Sfora 39 1 <o 4 Choose the correct answer from the options given
L) @, G, T DHTAE below.
@) (b) w © ek (1) (a), (b), (¢) and (d) are correct
) i ()  (b)and (c) are correct
3 (@), (b)TH (o) WEI T (3) (a), (b) and (c) are correct
@ (@), (b)TE () T EI 4 (a), (b) and (d) are correct
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198. TERIfA feudAet it FHt S FN a2 2

1) 9= fEER

(2) TS W

@  wfRaf 9 FEEA 3
(4) iR I

199. geit -1 =1 Qi - I1 & w1y Toam &1 |

200.

Tl - 1 Tt - 11
@ [fAw it | @) &=
) [T | o | ot ot
S QN
() (iii) [TEUE H HSe
: EELCIBIEED i
(d) (iv)
AN e e
= feu 4 faweu 9 sfaq s = ==m =10
@ (b)) © @
O v @ @ G
@ v @) @ @
3 av @ ) @
4 v @ G G)
oa H g9a % oY & faw = 9 #F weEg
379Td TE © 7
() SATFEEEE = e
(2)  OreifeRs 1 9red
(3) URISH TS WS & A9 | 9ig
@)  HRTRife w1 Y

-00o0-
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198, The Adenosine deaminase deficiency results into ;

199.

200.

1)
(2)
3)
(4)

Digestive disorder
Addison’s disease
Dysfunction of Immune system

Parkinson’s disease

Match List - I with List - IT.

List -1 List - II
(a) [Allen's Rule | (1) |Kangaroo rat
Physiological | .. :
(h) adariation (11) | Desert lizard
Behavicural |.... :
(c) adaptation (iii) | Marine fish at depth
Biochemical |..
(d) SaEicH (iv) | Polar seal
Choose the correct answer from the options given
below.
@ (b («
B w 0 @ @
@ @ @) @0 @
@G @ @ @) @
@ @ @0 ay W

Which of these is not an important component of
initiation of parturition in humans ?

)
(2)
3)
(4)

Release of Oxytocin
Release of Prolactin
Increase in estrogen and progesterone ratio

Synthesis of prostaglandins

-o0o-
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W &1d o fAT SE / Space For Rough Work

-

T

collegedunia:s

India’s largest Student Review Platform



O1 48 Hindi+English
ﬁﬁﬁ@ﬁ% SEJT?#U'%‘ Read carefully the following instructions :
6. T T TN W, T FR/aa set 4@ e | 6. On completion of the test, the candidate must

T ; ot Firf hand over the Answer Sheet (ORIGINAL and
Rl ol : Ll Y OFFICE Copy) to the Invigilator before leaving
N HATI WIS | T 379 | e Eﬁ?ﬂm SE the Room/Hall. The candidates are allowed to take
HFa T away this Test Booklet with them.
7. WWWW% Ol ﬂ%“gﬁlﬁ)ﬁﬁ‘aﬂ‘ﬁﬁg 7. The CODE for this Booklet is (1. Make
Wgﬁ?‘lﬂ = dam’ T %WWQTW& sure that the CODE printEfd on the Original
: Copy of the Answer Sheet is the same as that
T Fehd H foeren %l SR 77 o o1 el G d on this Test Booklet. In case of discrepancy, the
T Yt 3R S U= o % foau e =i T« candidate should immediately report the matter to
3TETT T | the Inwvigilator for replacement of both the Test
) ) Booklet and the Answer Sheet.
8. wdameff giifrea i i o Wﬁ‘cﬁﬁ%’[ ?GTQ'I%EI 8. The candidates should ensure that the Answer
34 W 37 e = o | wdeneff oo s Sheet is not folded. Do not make any stray marks
e anywhere else except in the specified space in the
Test Booklet/Answer Sheet,
9. IW T W ot 7R F F9EE T TR RGeS % | 9. Use of white fluid for correction is NOT permissible
TERT T STAfT T R on the Answer Sheet.
~ ~ 10. Each candidate must show on-demand his/her
10. Y ST R S TS, Friarh 1 7 3w Admit Card to the Invigilator.
feam | 11. No candidate, without special permission of the
11. %% anitges =1 f1deres &1 fod srqafa & fomm =8 centre Superintendent or Invigilator, would leave
. his/her seat.
YT ST T A DS |
' | 12. The candidates should not leave the Examination
12. wE@ s 1 ot s A fu famr o Hall without handing over their Answer Sheet to
IUfEATg-9F T AN BEAER (HHY & o) fru the Invigilator on duty and sign (with time) the
5 . Attendance Sheet twice. Cases, where a
o o e Y
HI T T WA T 2l et candidate has not signed the Attendance
witget A GH it ST Saftarfa-usre av gearery @& Sheet second time, will be deemed not to
feru <t =g wr=T Stre foF SEe ST ud @ wierar have handed over the Answer Sheet and
aﬁ'mgaﬂ&mmmaﬁrmwml dealt with as an Unfair Means case.
o 13. Use of Electronic/Manual Calculator is prohibited.
1 TS R HSHTeh 35T gl 14, The candidates are governed by all Rules and
14. TUAT-FA/BlA T 37w & Tau udane, wdan &% Regulations of the examination with regard to their
- : conduct in the Examination Roo all. cases
el we fafrmt g frafia €1 emfaa e d he E Room/Hall. All
e o 4 i s i i e of unfair means will be dealt with as per the Rules
&l BH AT T and Regulations of this examination.
STTARZ0T | 15. No part of the Test Booklet and Answer
15. mmﬁﬁww aﬁTEﬂTﬂﬂ‘Wﬂﬁ? Sheet shall be detached under any
— S8 circumstances.
‘ . 16. The candidates will write the Correct Test Booklet
16. TN GiEaRT/ STRUA § T80 T w{ien Gt ehd W Code as given in the Test Booklet/Answer Sheet

Tiramelt T wlen | Surefa-wses § fad |

in the Attendance Sheet.
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